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CHAPTER -1
NETWORK ELEMENTS

INTRODUCTION:

An electric circuit is an interconnection of electrical elements such as
resistors, capacitors, inductors, voltage source etc. In electrical engineering, transfer of
energy takes place from one point to another, which requires interconnection of
electrical devices. Such interconnection is known as electric circuit and each component
of the circuit is known as an element.

EXAMPLE # Consider an electrical circuit as shown in

the figure. This electric circuit consists of four elements

a battery, a lamp, switch & connecting wires. Circuitand ——— \
¢

batte switc|
network theorem is the study of the behaviour of the — ” "
circuit: Its behaviour tells us how does it respond to a

light bulb

given input how do the interconnected elements and
devices in the circuit interact? —®7

ELECTRIC CURRENT:

Electric current may be defined as the time rate of net motion of an
electric charge across a cross sectional boundary as shown in the figure given below. A
random motion of electrons in a metal does not constitute a current unless there is a net
transfer of charge with time i.e. electric current.

i = Rate of transfer of electric charge
= Quantity of electric charge transferred during a given time
duration/ Time duration
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dt
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Coulomb is the practical as well as SI unit for measurement of electric
charge. Since current is the rate of flow of electric charge through conductor and
coulomb is the unit of electric charge, the current may be specified in coulombs per
second. In practice the ampere is used as the unit of current. Coulomb is the practical as
well as SI unit for measurement of electric charge. Since current is the rate of flow of
electric charge through conductor and coulomb is the unit of electric charge, the current
may be specified in coulombs per second. In practice the ampere is used as the unit of
current.



VOLTAGE:

The voltage is the potential difference between two points of a
conductor carrying a current of one ampere when the power dissipated between these
two points is equal to one watt. The practical unit of voltage is volt.

POWER:
Power is defined as the rate of doing work or rate at which it can perform
work. So Power = work done/ Time in seconds
dw_ dwdq .
P = ==
dt  dq dt

Absolute unit of power is watt. One watt is that power which is required to perform one
joule of work in one second. The practical unit of power is horse power (HP). This value
in metric system is 75kg meters per second and in British system is 550 Foot
Pounds/second. Therefore

1 HP (Metric) =75 Kg meters per second= 735.5 watt

1 HP (British) =550 Foot Pound/ second = 746 watt

ENERGY:

Energy of a body is its capacity of doing work.

E = [ Pdt

The unit of energy in MKS system is joule and in SI system is KWH. A
system can have this energy in various forms, such as electrical, mechanical, heat,
chemical, atomic energy etc. Energy of one form can be transformed to other form, but
cannot be created nor be destroyed. If one form of energy disappeared, it reappears in
another form. This principle is known as law of conservation of energy.

CIRCUIT ELEMENTS/PARAMETERS:

1. RESISTANCE:

Resistance restricts the flow of electric current through the material. Unit
of Resistance(R) is Ohm. From Ohm’s law

R=V/I
When an electric current flows through any conductor, heat is generated due to collision
of free electrons with atoms. If I amp is the strength of current for potential difference V
volts across a conductor, the power observed by resistor is :

P=VI= (IR).I=I2R watts

Energy lost in the resistor in form of heat is then
t t o 2 V2
E:f() p'dt:fol Rad Rt= ?Xt

2. INDUCTANCE:
It opposes any change of magnitude or direction of electric current
passing through the conductor. Unit is Henry (H).When a current will flow through the
coils/Inductor an electromagnetic field is created. However in the event of any change
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of flow on direction of current, the electromagnetic field also changes. This change of
field induces a voltage (V) across the coil & is given by

v=L4 1)

Where 1’ is current through the inductor.
Voltage across an inductor is zero when current is constant.
Hence an inductor acts like short circuit to dc.

Power absorbed by inductor

P=Vx i=Li%watts. (2)
Energy absorbed. ,
E=[ p.dt =1Li2 (3)
0 2

From equation (2) & (3): The inductor can store finite amount of energy,
even the voltage across it may be nil. A pure inductor does not dissipate energy but can
only store it.

3. CAPACITANCE:

It is the property of capacitor, which have the capability to store electric
charge in its electric field established by the two polarities of charges on the two
electrodes of a capacitor.

The amount of charge store by capacitor is

q=cv
j=da =>j=c v
dt dt

Therefore if voltage across capacitor is constant, current through it is
zero. Hence capacitor acts like a open circuit to dc.
Power absorbed P=V.I= VC&

t dt
Energy stored E=[ p.dt =1CV2
0 2

A capacitor can store finite amount of energy. Even if the current through it is zero. It
never dissipates energy.

TYPES OFELEMENTS:
ACTIVE AND PASSIVE ELEMENT:
An active element has capability to generating energy while passive
elements have not.
Ex: Active Element: Generators, Batteries, And Amplifiers.
Passive Element: Resistor, Inductor, capacitor.

BILATERAL AND UNILATERAL ELEMENT:

If the magnitude of current passing through the element is affected due to
change in the polarity of the applied voltage, the element is called unilateral element.
And if the current magnitude remains same, it is called as bilateral element.

Ex: Unilateral Element: - Diodes, Transistors.
Bilateral Element: - Resistor, Inductor, Capacitor




LINEAR AND NON-LINEAR ELEMENTS:

A linear element shows linear characteristics of voltage Vs current.
Resistors, Inductor, Capacitor are linear elements and their property does not change in
applied voltage on circuit current.

For non-linear elements the current passing through it does not change
linearly with the time as change in applied voltage at a particular frequency.

Ex: Semiconductor devices.
ENERGY SOURCES:

Independent Energy sources: The voltage & current sources whose values or
strength of voltage and current does not change by any variation in the connected
network are called independent sources.
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. . Series Connection
Series connected independent Voltages Add, Capacity is Constant

sources: Consider the series connection of two oy +"j
voltage sources as shown in the figure. By KVL  + 1'2';{
the total voltage between the terminals is equal 12V 20 Ah -z
to algebraic sum of individual sources i.e. the Sa 2?1Lv
voltage sources connected in series may be 20 Ah 24V
replaced by a single voltage source whose 4 A — Wire +
voltage is equal to the algebraic sum of the 12v 20 An S—T)
individual sources. et -

Dependent Energy sources: When the strength of voltage and current changes
in the sources for any change in the connected network, they are called dependent
sources. There four different types of dependent sources

a) Voltage controlled voltage source (VCVS)
b) Voltage controlled current source (VCCS)
c) Current controlled voltage source (CCVS)
d) Current controlled current source (CCCS)

I Al l
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VCVS VCCS



SOURCE TRANSFORMATION:
The voltage and current sources are mutually transferable as shown in
the figure below.

R”
"ﬁ ll‘
R, ' Ro SF

KIRCHHOFF’S LAW:

These laws are more comprehensive than Ohm'’s law and are used for
solving electrical networks which may not be readily solved by latter. Kirchhoff’s law is
of two types, Kirchhoff’s current law and Kirchhoff’s voltage law. Kirchhoff’s current law
is used when voltage is chosen as variable while Kirchhoff' voltage law is used when
current is chosen as variable.

KCL: According to Kirchhoff’s current law the algebraic sum of currents at any
node of a circuit is zero. From the figure given below:

-l1-I2+13-14+15=0
=>[1+12+ [4=I3+Is
Hence:

Algebraic sum of currents entering a node =
Algebraic sum of current leaving a node.

Examplel: Find the magnitude and direction of the unknown current as shown
in figure given 1= 10 A, [;= 6A, Is= 4A

Solution: Assume direction of current in the
network

() L=D=10A
(ii) [1= 12+ I4=> 4= [1-1.=10-6=4 A
(iii) Atnode b: I2-13-15=0
=>6-13-4=0=>[3= 2A
(iv) Atnode d: I4+13-16-0
=>4 +2-16=0
=>lg=6A




Assume direction of all current are correct because of their positive
magnitude. Assume directions of unknown current are arbitrary and any direction can

be taken.
ExampleZ2: Find v and the N
magnitude and direction of the unknown A z
currents in the branch xn, yn and zn as be (3 b
shown in figure. [OAGD 5 -\f»( -y
QU
N
Solution:
Atnodey: 10 + Ixk+Iz=1y + 2
Ix-1ly+1z=-8
VYV +V+V=-8[sincelx=V,ly=—",1z="

5 2 4 5
V = —-8.42 volt

Negative magnitude shows that n to be positive.

Therefore

5

[x =-842=-1.684 A (i.e. from flowing current n to x)
5

ly = - (=842)= 4 21 A (ie Current flowing from n to y)
2

Iz = %‘;‘*2: -2.1 A (ie current flowing from n to z)

The circuit can be redrawn as given below

Example3: Find i1 and i2 as shown in figure

Solution: The circuit is redrawn in figure

According to KCL: i1 +i2=5+4i2------------=-----
[1- 32 =5 wemmmmememecmecceeeeeee
Here i1 = K;izzz
1 5
Therefore equation 2:V - 3‘%: 5
=>V=12.5volt

Thereforeii=12.5Aandi=2.5A

2
Ua
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2 %
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KIRCHHOFFS VOLTAGE LAW:

This law can be stated as
“The algebraic sum of voltage in any
closed path of a network that is traversed in single
direction is zero.”
Explanation: According to KVL
Vi-1IR1-V2-1R2-1IR3=0

IR1 + IRZ + IR3 = V1 - VZ
_ V1-V2
TR1+R2+R3

CURRENT DIVISION RULE:

Two resistors are joined in parallel
across a voltage V. The current in each branch, as given
in ohm’s law is

I1=V/R1 and Iz= V/ Rz

Therefore  11/I2=Rz2/ Ri=G1/ G

Hence the division of current in the
branch of parallel circuit is directly proportional to the
conductance of the branches or inversely proportional to their resistances. We may also
express the branch currents in terms of the total circuit current thus:

Now Li+I2=1
=>I=I-11
Therefore -~ ; orliRi=Re(I-11)

-1 RY R1
Therefore [1=1 and I, =I

R1+R2 R1+R2

Thus current division rule is stated as
“The current in any of the parallel branches is equal to the ratio of
the opposite branch resistance to the total resistance, multiplied by the total current.”

Example4: A resistance of 10 ohm is connected in series L 15
with two resistances each of 15 ohm arranged in parallel.

What resistance must be shunted across this parallel  —wW AN
combination so that the total current taken shall be 1.5 A L \
with 20 volt applied? R
Solution: The circuit connected in figure 15A

Drop across 10 ohm resister = 1.5 * 10=15V

Drop across parallel combination, Vag= 20-15=5V 20V

Hence voltage across each parallel resistance is 5V.
L=5/15=1/3 A
r=5/15=1/3 A
I=1.5-(1/3+1/3)=5/6 A

Therefore = IzZR=5 or (5/6) R=5o0r R=6 ohm



Example5: Calculate the value of different current for ho R

e AANN
the circuit shown in given figure. m
\——/wvx—/—
Solution: Total current =11+ + I3 l ; LR 1
Let the equivalent resistance be R. I

i
Then V=IR !
Also V=11 R: Rt
Therefore IR=11Ry

Or I1=IR/Ry (1)
Now (1/R) = (1/R1) + (1/R2) + (1/R3)
R1R2R3

" R1R2 + R2 R3+ R3 R1

: R2 R3

From equation 1:  [1=
R1 R2 + R2 R3+ R3 R1
. R1R3
Similarly I2=
R1 R2 + R2 R3+ R3 R1

R1R2

I3=

R1 R2 + R2 R3+ R3 R1

VOLTAGE DIVISION RULE:

A voltage divider circuit is a series network which is used to feed other
networks with a number of different voltages and is derived from a single input voltage
source. Figure shows a simple voltage divider circuit which provide two output voltages
V1 and V2. Since no load is connected across the output terminals, it is called an
unloaded voltage divider. We may also express the branch voltages in terms of the total
circuit voltage thus:

Now V1+V2=V

=>V,=V-V;
R1
Therefore 1 _=_orV1R;=R; (V-Vi)
V-Vl R2
Therefore Vi-=V R and V2=V _R2__
R1+R2 R1+R2

Thus Voltage division rule is stated as
“The voltage across a resistor in series circuit is equal to the value of that
resistor times the total impressed voltage across the series elements divided by the
total resistance of the series elements.”

Example9: Find the value of different voltages that can be —r
obtained from a 12 V battery with the help of voltage divider
circuit of figure.
Solution:
R=R1+R2+R3=4+3+1=8o0hm
Drop across R1=Vr1=12 X (4/8) = 6 volt
Drop across R2=Vr2 =12 X (3/8) = 4.5 volt
Drop across R3=Vr3=12 X (1/8) = 1.5 volt .
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Example10: What are the output voltages of the unloaded voltage divider shown in
figure what is the direction of current Through AB?

Solution:
It may be remember that both V1 and V2 are with
respect to ground.
R=6+4+2=12ohm

Therefore
V1= Drop across R2= 24 x (4/12) = 8 volt
V2 = Drop across R3=-24 x (2/12) =-4 volt

It should be noted that point B is negative potential with respect to the
ground. Current flows from A to b i.e. from a point at a higher potential to appoint at a
lower potential.
Problem 1

Find the values of V, V35 and the power delivered by the 5V source. All values of resistances are in
ohm.

Solution
2 |
Current, j = —= —
et =530 A
By KVL,

20i+2+5+v+70i=0

v:—7—WN=—7—90x£6=—H)V
v V= 20i+v+30i =50 — 10

L
=50x35-10=-833V

a—2V+

30 Q 40 Q
b

Power drawn by the 5V source = — (Power taken source) = =5 x 3L0 =-0.166 W

11



Problem 2
Find the equivalent resistance between the terminals A and B of the circuit shown below.

A

6 Q) 4Q

W —¢

Solution
Converting star into delta,

177+
s _(r, I ;.2)=8+%=9.875§2
3
57
g =(;~2 +ry o+ 25 )=13+43—0=26.33Q
1
515
- _(,-3 +r +A)=11+§=15.8Q
s 5
6 Q2 Al 4 Q
> E
9.875 Q2
5Q 40
15.8Q 26.33 Q
)
R
A
A 1.2075 Q
6Q 4Q 2.981 Q 1.987 Q
9.875Q
3.798 3.472Q 3.798 Q 3.472Q

|

Combining the parallel connections of 5Q and 15.8 Q and 4 Q and 26.33 Q, we have the reduced
circuit.

ls

Again, converting the delta made of 6 Q, 4 Q and 9.875 Q into equivalent star,

PO LY
" +l'2 + 5
6 x4
=19875 1.2075 Q
4 x9.875
6 %< 9.875

12



1.2075 Q

6.779 Q % % 5.459 Q

IB

So, the given circuit becomes as shown in figure.

_ B 6.779 X 5.459
© Rup =1.2075+ Z2zo =220 =4.23Q Ans.

Problem 3

Find the current through the galvanometer using delta-star conversion.
B

D
|
Il
8V 45

Solution

Converting the delta consisting of 20 Q, 30 Q and 50 Q, we get,
_ 20x30
20+ 30+ 50

. 20 x 50
2 20+30+50

- 30 x50
37 20+30+50

S.Rac=16Q

=6Q

4]

=10 Q

=15Q

13
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L
I

80

100 o

{
8V
Main current j = % =0.5A
Now, to calculate potential difference between the points B and D;

Vxe=10x0.6=5Y
S Vep=(10=%025 -5%x0.26)=1.25V
.. Currant through the galvanometer, (50 (Q)

i =%= 0.025 A

o ——
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CHAPTER -2
NETWORK THEOREMS

INTRODUCTION

Electric circuits on network consist of a number of interconnected
single circuit elements. This circuit will generally contain at least one voltage on current
source. The arrangement of elements results in a new set of constraints between
currents and voltages. These new constraints and their corresponding equations added
to the current-voltage relationships of the individual elements provide the solution of the
network. There are different approaches for this but the solution is always unique.

STAR DELTA TRANSFORMATIONS

Figure shows a Y (star or wage) connected resistance circuit. Let
the resister value of Y network are R, Rv /\ and R.. Figure shows a (delta)
connected resistances and Let the resistor values are Rap, Roc and Rea .

A

Rab Rac
C
Rb
¢ AR C
B B Rbc
Star Connected Delta Connected

It is possible to substitute a star connected system of resistance for a delta
system and vice-versa if proper values are given to the substituted resistances.

DELTATO STAR CONVERSION

The two systems will be exactly equivalent if the resistance between any
pair of terminals A, B and C in figure for the star is the same as that between the
corresponding pair for the delta connection when the third terminal is isolated.

For the Y-network resistance between the terminal

A and Bis Rap = Ra + Ry eq. (i)

For the /\ network resistance between the terminals AB is

Rab = Rap | | (Rac + Rbc)

= Rab 'Rac'l'Rbcl ''''''''''''''''''''''''''''''''''''''''' eq- (11)
Rab+Rac+Rbc

Hence Ra + Rp= Rap (Rac+Ruc) eq. (iii)
Rab+Rac+Rbc

15



Simalarly for Y-network resistance between terminal B and C is
Rbe = Rp+R¢
For the A networkresistance between terminal B and Cis
Rbe = Rbe | | (Rab"‘Rac)
Rb+Rc = Rpe (Rap+Rac) eq. (iv)
Rbc+Rab+Rac
Similarly we can find Rac between terminal A and C is
Ra+R¢ = Rac (Rap+Rbc) eq. (v)
Rac+Rap+Rac
Subtracting eq.(v) from the sum of eq.(iii) and eq.(iv) yields
2 Rp =2 Rab . R
Rab+Rpc+Rca

Rpb=Rap.Ric
Rab+Rbc+Rca

Subtracting eq.(iv) from the sum of eq.(iii) & eq.(v) yields

ZRa=2Rab.Rac
Rab+Rbc+Rac

Ra= Rap.Rac
Rab+Rbc+Rac

Similarly subtracting eq.(iii) from the sum of eq.(iv) and eq.(v) yields

2 Rc = 2. Rbc . Rca
Rab+Rbc+Rca

Rc = Ric. Rea
Rab+ Rbc+ Rca

Therefore, the equivalent impedance of each arm of the star is given by the
product of the impedance of the two delta sides that meet at its ends divided by the sum of
there delta impedance

STARTO DELTA CONVERSION

Similarly we can find conversion formula for Yto /\ as

Rab:Ra.Rb+Rb.Rc+Rc.Ra

R¢
Rbc=Ra.Rp+ Rp.Rc + Rc. Ry
Ra
Reca=Ra.Rp + Rp .Rc+ Rc. Ry
Rb

16




SOURCE TRANSFORMATIONS

In the circuit analysis, a circuit with either voltage source or current
sources is preferred. Sometimes a circuit may have both i.e. voltage source & current
source. In that case it is convenient to transform voltage source to equivalent current
source and current source to equivalent voltage source .

A A A
v R 2 vr (E I@: ;IR: A
I_—OH B B -IV—OB

(Transformation of Voltage source to (current source to an equivalent
an equivalent current source) voltage source)

NODE ANALYSIS & MESH ANALYSIS
Two methods one Node analysis and the other mesh analysis are used to
analyse a circuit depending on the arrangement and types of elements in the circuit.

Nodal analysis is based on Kirchhoff's Current Law (KCL) and Mesh analysis is based on
Kirchhoff’s Voltage Law (KVL).

NODAL ANALYSIS

Let us consider a circuit shown in fig 2.2 with four I
: . .1
nodes. A convenient way of defining voltages for any network is
the set of node voltages. u

4

One node i.e. 4 (generally the node at the —L—
bottom)is marked as reference node with ground and other Be22 ~
nodes are associated with a voltage. The reference node also can be called as Ground
Node. In fig 2.2, the voltages V1, V2, V3 are called Node Voltages because they represent
the potential differences between the nodes 1,2 & 3 and reference node respectively.
That is the voltage of each of the non-reference

nodes with respect to the reference node is defined li Rs
as anode voltage. ] MWy
. . o s e 11 . Ra
Consider the circuit in figure vl v, 3
1—"WW, Wy 3Vs
1 Ri 2

h1=V1-V, ,is=V;-V3 i(«P §R2 'LhL% R
R1 Rs 4

Now applying KCL at node 1, the sum of currents
leaving is zero.
Therefore i1+is -i=0

17



i=Vi-Vo + Vi-V3 eq. (1)
R1 Rs

Similarlyatnode2 -i1=V2-V;, 2=V, i3=V;-V3
R1 R2 R3
Vo-V; +V2o-V3 +V, =0 eq.(2)
Ri R3 Rz
At Node 3 Sum of currents leaving are

-i3=V3-V2, i4=VJ,'i5=V3_V1

R3 R4 Rs
Va-Vo+ V3 + V3- V3 _eq.(3)
R3 R4 Rs

All the above these equation can be solved to determine the individual
node voltages V1, V2& V3.

Example 1
Find the node voltages Vi and V; for the Vi ﬁ Vs
circuit at figure. (1) 2
Solution At node 1 apply KCL sum of all 100 § @)
the current leaving the node (1) is zero current leaving 4 542 i
node 1 are V3, V1-Vz and -2A (2A is entering)
10 15
Vi+V3-Vp -2=0
10 15
vi(t+)-"=2
10 15 15
S5V1 =2V = 60 --mmmmmmmm oo eq. (1)
Similarly At node 2 current leaving are ‘%, ‘/2—1_‘/51and -4A
V2 | V2-Vi1
st 4=0
4V, -V1=60 eq. (2)
Solving the above two equations (1) & (2)
We get V1 = 20V, V2 = 20V o
Vi ) , Vs
; M M
Example 2 10 V2 40
Find V4, V2 aT'ld V3 for the circuit in figure. D 4 § 0 s (1) ™
Solution
Atnode 1
Vi-V+ 724320
2
3V1-2V2-V3 = -6 eq. (1)
At node 2 VZ-V1+E+H:0
3 4
-12V1+19V,;-3V3=0 eq.(2)

18



Atnode 3

V3-V1 V3  V3-V2
+ =+ =7
2 5 4
-10V1- 5V, +19V3 =140 eq. (3)

By solving we get V1 = 5.238V, V, = 5.12V & V3 = 11.47V

Example 3
Find the node voltage V1& V. ) 2‘;’:—3 N
Solution § 2;2 §ZQ
14
To write node equation treat node 1 and 2 T
and the voltage source together as a Sort of Super node

and apply KCL to both nodes at the same time. The
super node is individual by dotted line.
Applying KCL, we get

14Vi4 V24 V2= eq. (1)
2 2 5
And from voltage source Vi -2 =V, eq. (2)

Now we can solve for Vi and V; using both equations.

MESH ANALYSIS

Mesh analysis is restricted to the category called Planar Circuit whereas
nodal analysis can applied to any electrical circuits. A planer circuit is a circuit if the
diagram of the circuit can be drawn on a plane surface without crossover. Example of
planner and non-planar circuit are shown in fig (2.7).

crossover

Wit

Planer Circuit

Figure depicts a circuit comprising two meshes.

They are
Mesh 1: Vs - R1—» R2—>V3
Mesh 2: R3 - R4 - Rz —>R3
The two mesh currents are labeled as i1 and iz flowing in clockwise
direction. Now we will apply KVL around each mesh.

19



For mesh 1

i1R1 + (i1-i2) R2= Vs eq. 1
For mesh 2
i2R3 + 12R4 + Rz (iz-i1) = 0 eq. 2

Eq.(1) & (2) can be rewritten as
(R1+R2)i1 - R2iz = V5 eq.3
-R2i1 + (R2+R3+R4) i2=0
Finally the two equations can be put in matrix form
(R1+R2 —R2 ] [1=["°
—R2 R2+R3+R4 i2 0

]

Which can be solved for i1 and i».

Examples 4 find the mesh current i; and iz for the circuit shown in figure.

For first mesh 2i1+3(i1-i2) =9 eq.1 e
4i2-5+3(i2-i1) =0 eq.2 n _

Equation can be rewritten as C)w D §3Q DEVC)
5i1-3i2=9 eq.3 - i iz +
-3i1+7i2=5 eq.4

By solving i1=3A,i2=2A

Example 5

Determine the voltage drop across 3} resister using mesh analysis in figure.

__________________ R o —
-—-r/;-_} ______ i 32 ,:;\

-0 )

i1

SUPERMESH

When a current source is common to two meshes we use the concept of
super mesh to analysis the circuit using mesh current method. A super mesh is a larger
mesh created from two meshes that have a current source as common element. A super
mesh encloses more than one mesh for each common current source between two
meshes, the number of meshes reduce by one, thus reading the number of mesh

20




Solution to Example 6
The 2A current source is common to mesh 2 & 3. So we create a super

mesh as shown in dotted line.
For super mesh

6iz + 3iz + 5(i2-i1)-8= 0

= -5i1 +8i2 + 6i3=8 eq. 1

For mesh 1
-12+8+5(i1-i2) = 0
= 5i1-5i, =4 eq.2
iz-iz =2

From current source
By solving we get
Voltage across 3(Q) resistor

i2=2.664
=2.66x3 =8v.

Example 7
Use node analysis to find Vi, Vo, V3 & i1
i;\ ;i
Vi 2
S — L T v
oA
T)aa § § 0
Solution
Applying KCL at node 1
We get
vi-vz  vi-v3_, eq. 1
20 2
Applying KCL at node 2
a-vi 2 1 g=-90 eq.2
20 4
Applying KCL at node 3
V3, Vivi_g eq.3

2 2
By solving all these equations we can get Vi= 16v, V,=-24v, V3= 16v, i1 = 0A

Examples 8
Find the voltage V; using mesh analysis. ;:ﬂ‘; o)

----------

P - +
309‘2‘% ' 14084 i () 1ov §SU.Q

Solution
Applying KVL for super mesh :
30i1+20(05+i1)+10=0 R i
= 50i1 =-20 Ry fig 2.12
Supermesh

— iy =-2=- 044, V, = 20(i1+0.5)
5

=20x0.1=2v
21



Superposition Theorem

In a linear bilateral network containing two or more independent sources,
the voltage across or current in any branch is algebraic sum of individual voltages or
currents produced by each independent sources acting separately with all the
independent sources set equal to zero.

Procedure to solve the circuit using superposition theorem

1. Select only one source and replace all other sources with
their internal resistance. If the source is an ideal current
source replace it by open circuit. If the source is an ideal
voltage source, replace it by short circuit.

2. Find the current and its direction through the desired
branch.

3. Add all the branch currents to obtain the actual branch
current.

Examples 9
Find the current through 20 register using

superposition theorem.

24
Solution
First we find the contribution to I due to 5V
source by replacing 2A current source with open-circuit.
Applying KCL for the circuit in figure. 30 v
diids o
V-5 VvV
ER A .\
_Ev,ll—gAmp ()_5*» 20 § § g 0OfC
Next we find the contributions I> due to 2A current source t: o

by replacing the voltage source by short-circuit.

30

6113

sC 22 F (D §=m . A

60
Iz

I = 2x° = 1Amp

4
Total current flowing through the 2Q) resistor = I1+I; = 1+E = EAmp
6 6
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Limitation of Super-position Theorem

1. Notapplicable to the circuits consisting of only dependent sources.
2. Notapplicable to the circuits consisting of non-linear elements.
3. Not applicable for calculation of power, since power is potential is propositional

to the sequence of current or voltage.

4. Not useful to the circuits consisting of less than two independent sources.

Example 10

Find current I using Superposition theorem for the circuit in the figure.

Solution:

The circuit has three voltage sources. First we find the contribution to 4
due to 2V. Therefore short-circuit the remaining two voltage sources as shown in figure.

1-—2 _10_5
2+Q5_ 16 8

When 4V acting as shown in figure
It =_4' = E A
2+i 4

When 3V is acting alone as shown in figure
I3=- iAmp
When all the sources are acting together total

current will be
I=Il+12+13:_+
4

3 1+2—3: OAmp

1 [—
2 4 4

Ii
0 av 6
:0
20 30
I1 202
T 4V
20 I; 30
%29 +
3V
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Example 11

Find current I,

Solution: Let us assume that only 12V is acting done and current
through it ia1, open circuit 4A and 1A current source and short-circuit the 6V voltage

source as in the figure. s
o =
1
(%12" 14 %r) 30
12_ 4 oo
Ial =- _ =- _A
9 3 = 10
When 4A current source is actinzg alone as shown in figure.
4X6 8
Ia2=_=_=_A Ia2
9 9 3
When 1A is acting alone as s}%ovgn in figure. £ 3Q
l3=1x_=_A Ias
9 3 1A

e &V

When 6V is acting alone as in figure

las £
6 2
Ia4=_= - _A

9 3

When all the sources are acting total current will be

la =lar + L2 + a3 + las
_ 4,81 2_ 448412
3 3 3
_3
3
= lamp
I =1A

APPLICATION OF SUPER-POSITION THEOREM

The super-position theorem is applicable for any linear circuit having time
varying or time invariant elements. It is useful in circuit analysis for finding current &
voltage when the circuit has a large number of independent sources.
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LIMITATION OF SUPER-POSITION THEOREM

1. Not applicable to the circuits consisting of dependent sources.

2. Notapplicable to the circuits consisting of non linear elements like
diode, transistor etc.

3. Notapplicable for calculation of power.

THEVENIN'S THEOREM

Thevenin’s theorem states that any linear active two terminal network
containing resistance and voltage sources or current sources can be replaced by a single
voltage sources Vu, in series with single resistance Rw. The Thevenin equivalent voltage
Vi is the open circuit voltage at the network terminal and the Thevenin resistance Ru, is
the resistance between the network terminals when all the sources are replaced with
their internal resistance.

Fig (a) shows a linear network containing resistance, voltage sources or
current sources with output terminal AB using Thevenin’s theorem the linear network
can be replaced by single voltage source Vu, in series with a single resistor Rwx as shown
in fig(b). Now any resistor can be corrected between the terminal AB and current
through it can be obtained easily.

Procedure to find the current through a branch using Thevenin’s Theorem.

1. Remove the branch through which current is to be found and mark the terminal
AB.

2. Calculate the open circuit voltage Vi, between the terminal AB.

3. Replace the independent sources with their internal resistance. (if the internal
resistances are zero, then voltage source should be short-circuited and current
source should be open-circuited)

4, Calculate Ry between the terminal AB.

5. Correct thevenin's voltage sources in series with Thevenin resistance with output
terminal AB.

6. Correct the removed resistance between AB and find the current through it.

: /—9A
12kQ | 8kQ
Example J
Find Vru, Rrué nd the load current == ,qy e aKa < R
flowing through and load voltage across the load < <, 5k
[
resistor in figure by using Ttevenin’s Theorem. '
' “B
M —_— 4,,‘; / ~ v \,y/‘_. A
Step 1 ‘ 12k0 ' 8ka
Open the 5k} load resistor figure. = 4av < ako
Step 2 7
Calculate / measure the Open Circuit ‘ | eB

Voltage. This is the Thevenin Voltage (Vtn)
figure. We have already removed the load resistor from figure 1, so the circuit became an
open circuit as shown in fig 2. Now we have to calculate the Theve in’s Voltage. Since
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3mA Current flows in both 12k and 4kQ resistors
as this is a series circuit because current will not
flow in the 8Kk() resistor as it is open.

So 12V (3mA x 4kQ] will appear across the
4kQ resistor. We also kncw that current is not
flowing through the 8kQ resistor as it is open
circuit, but the 8k(l resistor is in parallel with 4k
resistor. So the same voltage (i.e. 12V) will appear
across the 8k() resistor a =
terminals. So,

Vry =12V

Step 3

Open Current Sources and Short
Voltage Sources figure.

Step 4

Calculate /measure the Open Circuit
Resistance. This is the Thevenin Resistance (Rth)

We have Reduced the 48V DC source
to zero is equivalent to replece it with a short in step
(3), as shown in figure () We can see that 8k(
resistor is in series with a pe rallel connection of 4k}
resistor and 12k Q resistor. i.e.:

3MA

VA VV V' —eA
12k | l 8kQ T
a
ab 3mA ¥
=48v T "< 4k 12v
{, eB

ImA x4k =12V

4kQ resistor. Therefore 12V will appear across the AB

8kQ + (4k Q || 12kQ) ..... (]| = in parallel with)

Rrn = 8KQ + [(4kQ x 12kQ) / (4kQ + 12kQ)]

Rty = 8kQ + 3kQ

Rru = 11kQ

Step 5

Connect the Rruin series with Voltage
Source Vrty and re-connect the load resistor. This is

shown in figure i.e. Thevenin circuit with load
resistor.

V'V \,’I-\ \/.\\/\/\ A
12kQ 8k
Shde
>
|
! eB
——AMA—T—AA—eA
12k 8ka
< -
5. 4kQ0 -— \&-
B
= 8K + (4K 2 || 12k) — = 8K + 3kQ
Ry = 11kQ
—— ANV —eA
11kQ
% R
=12V 5kQ
B
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Step 6

Now apply the last step i.e. calculate the

total load current & load voltage as shown in figure. NN\ —eA
1 |
IL = Vtu/ (Rtu + Ry) o <
_ i Ru
= 12V (11KQ + 5kQ) — = 12v <5kﬂ
=12/16kQ
[ =0.75mA
' — e —@ B
And
Vi =ILxR;
VL = 0.75mA x 5kQ)
Vi =3.75V
NORTON'S THEOREM
Norton’s theorem states that any linear active two terminal network
contains resistance and voltage source or current source can be replaced by single

current source or current source can be replaced by single current source Inin parallel
with a single resistance Rn. The Norton's equivalent current Iy is the state circuit current
through the terminals AB and resistance Ry is the resistance between the network
terminals when all the sources are replaced with internal resistances.
Procedure to find the current through a branch using Norton’s theorem.

1. Remove the branch through which current is to be found and mark terminal AB.

2. Short-circuit the terminal AB and find current through it and denote it as Isc.

3. Replace the independent sources with their internal resis ances (if internal
resistances are zero then voltage source should be short circuited and current
sources should be open-circulated).

4. Calculate Ry between the terminals AB.

5. Connect the short-circuit current (Norton’s) I, in parallel with Ry with output
terminal AB.

Correct the removed branch between terminals AB and find current.

Example
Find the current in RL using Norton’s Theorem
R, R;
VA VA
4Q ! 1Q
B, — 28V R%(Load] B, — 7V
- ) —
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After Norton conversion...

that
r ponent

Remember
a current source is a co
whose job is to provide a constant
amount of current, outputting as
much or as little voltage necessary
to maintain that constant current.

As
Theorem, everything in the original

with Thevenin's

circuit except the load resistance has
been reduced to an equivalent circuit
that is simpler to analyze. Also similar
to Thevenin's Theorem are the steps
Norton's Theorem to

used in

Norton Equivalent Circuit

e (1)

RNO[‘[OI‘I% R1 %(L()ﬂd
20
R R,
VA VA
4 Q) ! LQ
Load 5 —
Tomoved B, — 7V

!

calculate the Norton source current (Inorton) and Norton resistance (Rnorton).

As before, the first step is to identify the load resistance and remove it

from the original circuit.

Then, find the
Norton current (for the current

to

source in the Norton ecuivalent
circuit), place a direct wire (short)

connection between the load points
and determine the resultant current.
Note that this is

step exactly

R, R;
VA VA
40 | T 1Q
7 TA
+ +
B, — 28V T14A B, —

;

"'.s}wrr = "R! + "R2

opposite the respective step in Thevenin's Theorem, where we replaced the load

resistor with a break (open circuit).

With zero voltage dropped

between the load resis tor

connection

points, the current through R; is strictly a

function of B1's voltage and R1's resistance:
7 amps (I=E/R). Likewise, the current
through R3 is now strictly a function of B;'s

voltage and R3's resistance: 7 amps (I=E/R).

Norton Equivalent Circuit

Tnecon (1)

14Al

Rum.,%o.s Q

2Q

R, < (Load)
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The total current through the short between the load connection points is the sum of
these two currents: 7 amps + 7 amps = 14 amps. This figure of 14 amps becomes the
Norton source current (Inorton) in our equivalent circuit.

Current through load of 2Q resistor =14 X .8 /2.8 =4 Amp.

Maximum Power Transfer Theorem

In a linear bilateral network containing an independent voltage
source in series with resistance Rs delivers maximum power to the load resistance Ry
when RL=Rs

Let us consider a circuit shown in fig(a)

Current [= Vs
Rs+RI

Power delivered to the load P = I?2Ry, = ( rs

)? R
Rs+RI1
To find the value of Ry for optimum power transfer differentiate P;, with respect to Ry, and

equal to 2nd

dPl [(Rs+Rl)2—2Rl(Rs+Rl) R
= 2 =
dRl v (Rs+RD)2 ] 9 A
= (Rs+Rp)* =2Ry(Rs/+Ruw)
=>Rs+ Rp, =2RL R,
— RS = RL

Maximum power willbe = (Vs/2Ry)% x Ry = Vs2/4R.,

Example

Find the value of Ry for the given network below 5 “
that the power is maximum? And also find the Max Power ol 5Q
through load-resistance Ry by using maximum power transfer [ 8Q 128
theorem?
Solution A B

For the above network, f i
we are going to find-out the value of 65’,___ i AV

. “p ’ 5Q
unknown resistance called “R.”. In s‘c[— | 50 |
previous post, | already show that when 8RS 2120
power is maximum through load- [ l 15.4;/}/2\'
resistance is equals to the equivalent [ 1l
resistance between two ends of load- A B 2 N g
resistance after removing. ‘_/

VWV — AN/

So, for finding load- g - 3.77Q
resistance R.. We have to find-out the 34305 %;129 So,
equivalent resistance like that for this Rus/R = 3.77Q)
circuit. lf
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Now, For finding Maximum Power through

load-resistance we have to find-out the value of V.. Here,
Vo.cis known as voltage between open circuits. So, steps are

For this circuit using Mesh-analysis. We get

Applying Kvl in loop 1st-
6-611-811+812=0
14 48I5=-6 e (1)
Again, Applying Kvl in loop 2nd:-
-812-512-121,+811=0
811-25I,=0 e (2)
On solving,eqn (1) & eqn (2), We get
[1=0.524A
[2=0.167 A
Now, From the circuit Vo is
Va-512- V=0
Vo.c/ Vag= 512 = 5X0.167 = 0.835v

A+ —

So, the maximum power through the Ry, is given by:-

2

VO.C
Pmax = 4RL
2
 0.835
" 4X 377

Pmax = 0.046 watt
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Milliman’s Theorem

This theorem states that Any number of current sources in parallel may be
replaced by a single current source whose current is the algebraic sum of individual
source currents and source resistance is the parallel combination of individual source
resistance.

The alternative statement of Milliman’s theorem is Any number of voltage
source Vi, Vg, V3, ---------- Vn having source resistance Ri, Rz, Ry Ru
respectively connected in parallel may be replaced y a single voltage source V, and

resistance R, where
1 1 1
Vo= where Gi1= _,G2= __ etc.
G1+G2+———+Gn R1 R2
The above two statements are identical because a voltage source can be

connected in to current source and vice-versa.
Reciprocity Theorem

The Reciprocity theorem states that if the source voltage and zero
resistance ammeters are integrated, the magnitude of the current through the ammeter
will be the same. In lead the principle states that in a linear positive network, supply
voltage V and current I are mutually transferable. The ratio of V and I is called the
transfer resistance.

Problem 1

1Q e

o

Find the current / in the circuit shown in the figure. using superposition

theorem.
Solution
Il /M
10 = 10 —
20 20
10 30 1V 1A 10 30

(i) Voltage Source acting alone  (ii) Current Source acting alone

For Figure (i) [’ =—% A

For Figure (i) /" =1X——==
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Problem 2

2V,
N e
NS ~
@ 2Q§ Vy (DzA

Use superposition theorem on the circuit shown in figure to find /.

Solution

(i) Voltage source acting alone (ii) Current source acting alone

For Fig. (i), by KVL, 5i’ — 2w’ + 2’ =10 with v/ =-2i"
= 7i"+4i" =10
= i’=10/11 A

For Fig (ii), by KCL at node (x)

”

S
2=i,‘.+i”=—2—‘+z”(|)

But loop analysis in the left loop gives,
57 +3vl=0

From (1), =_L:"_§ i
M. 2 >~ 5V

V” - _Q
RY ll

So, by superposition theorem total current

(10 12)_ 2
=g ’)‘(11 11)‘ e
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Problem 3

1
" L—-’V\/V“—* AMA +_T_
10V — EV-—
- 1% - §R=2
1 2
*

Draw the Thevenin's equivalent of the circuit in figure and find the load

current, i. All values are in ohm.

Solution
Open circuiting the terminals,

1 1
I G
10V == V=5
= i 1% i - <:v:oc
1 2
L 2 D
By KVL for two meshes,
3i|—i2=10
and —i, +4i, =-5
Solving, i, =5/11 and i, =-5/11
. _ y_[<_10)_45
HamGr2=(5-10)- 8
10 1Q 1Q
AMW—e MWW— .
Rm 2 th
10 10 20 30 20
; ; —5-x2
Equivalent resistance, P B =&Q
th = 5/34+2 11

. Ve 45111 45
So, the load cunent is, i = Rth+2_ 10/“+2—32—1.40625A
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Problem 4

+ Vs X3 4Q
P A
2Q
2Q
+
& =
4v$

° B

Find Thevenin's equivalent about AB for the circuit shown in figure.

Solution
Open-circuiting The 4 Q resistor, by KCL,

A A9 A
2Q
20
av,
R
V. -1
°°2 0=4vs=4(10—V0c)
>V, =10V

Short-circuiting the terminals AB, by KCL,

V=10 W
IT+TI=4"-*=4(1°_V')

_180 _
hi=To =947V

L, =9'4ﬁ= 2368 A

—;]/—'h—= 422Q

sC

55 th -
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Problem 5

Werify the Reciprocity Theorem for the network shown in the figure using

current source and a voltmeter. All the values are in ohm.

2 4
AVATAY e A AATA

Solution
Using a current source and a voltmeter,

Let, e, e2 be node voltages, v; be the voltmeter reading.

1 20 2 4 0 3
ATAVAYA ATAYATA

i1 C‘f 10 30 5Q C"«D

By KCL,
Atnode (1) = 3¢ —ex — 2 =0 (i)

At node (2) = —6e; + 13e; — 3v; = 0 (i)
At node (3) 9v; = Se5 (i)

From (ii) = —6¢, +13 x2v| -3y, =0

5
= —b6¢ +(%—3) v =0
= 6(?] +’%Vl = € =?V]
s 17 9 !
From (i) = 3><?v, —3W = 2i

i 21
= | —|=| =
("l ) ( S )(A)
Interchanging the positions of the current source and the voltmeter,

Now, let vo be the voltmeter reading

CV> 1Q 3Q 5Q
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By KCL,
At node (1) = 3v, = e (iv)

At node (2) = —6v5; + 13e>; — 3e3 =0
= —6vs; +13 <X3v; —3e3 =
= e3 = 11vs (V)

At node (3) = 563 === Sez —+ 4e3 — 20i2 =0
== 20i2 — 983 — 562 =9 x<1 1\’2 — S x BVZ — 84"2

L= _A==2A
— (\72J_(—5 )(B)
From equations (A) and (B), Reciprocity thheorem is proved.

Problem 6

Find the load current using Millman’'s theorem. All values are in ohm.

1 %2 3 /
10
- - -
T

TN -— 2 3v —

- =1

Solution
Here, E1 =1V, E2=2V,E53=3V
Zy =1 Q75 =20, 75=30

S Y17=13,Y2=05 0,6 Y3= O

L
3

By Millman’'s theorem, the equivalent circuit is shown.

ZE"Y" l><1-+-2><0.5+3><l
_E_l=] _ 3_3_]8V
el T TS
G Z= 1 -Lo
an
_ZIX
18
E 11 18 9
= A
Z+10 £+10 116 58
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CHAPTER-3
ACFUNDAMENTAL & AC CIRCUIT

WHAT IS ALTERNATING CURRENT (A.C.)

Alternating current is the current which constantly changes in amplitude,
and reverses direction at regular intervals. We know that direct current flows only in
one direction, and that the amplitude of current is determined by the number of
electrons flowing past a point in a circuit in one second. If, for example, a coulomb of
electrons moves past a point in a wire in one second and all of the electrons are moving
in the same direction, the amplitude of direct current in the wire is one ampere.
Similarly, if half a coulomb of electrons moves in one direction past a point in the wire in
half a second, then reverses direction and moves past the same point in the opposite
direction during the next half-second, a total of one coulomb of electrons passes the
point in one second. The amplitude of the alternating current is one ampere.

PROPERTIES OF ALTERNATING CURRENT

An A.C. source of electrical power
changes constantly in amplitude and the*
changes are so regular Alternating voltage and 0
current have a number of properties associated -
with any such waveform. These basic properties
include the following list:

/A NVA
NV

Time _ »

Frequency
One of the most important properties of any regular waveform identifies

the number of complete cycles it goes through in a fixed period of time. For standard
measurements, the period of time is one second, so the frequency of the wave is
commonly measured in cycles per second (cycles/sec) and, in normal usage, is
expressed in units of Hertz (Hz). It is represented in mathematical equations by the
letter ‘f".

Period

Sometimes we need to know the amount of time required to complete
one cycle of the waveform, rather than the number of cycles per second of time. This is
logically the reciprocal of frequency

Wavelength

Because an A.C. wave moves physically as well as changing in time,
sometimes we need to know how far it moves in one cycle of the wave, rather than how
long that cycle takes to complete. This of course depends on how fast the wave is moving
as well. The Greek letter (lambda) is used to represent wavelength in mathematical
expressions. And, A= c/f. As shown in the figure to the above, wavelength can be
measured from any part of one cycle to the equivalent point in the next cycle.
Wavelength is very similar to period as discussed above, except that wavelength is
measured in distance per cycle while period is measured in time per cycle.
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Amplitude

Mathematically, the amplitude of a sine wave is the value of that sine wave
at its peak. This is the maximum value, positive or negative, that it can attain. However,
when we speak of an A.C. power system, it is more useful to refer to the effective voltage
or current.

THE SINE WAVE

In discussing alternating current and voltage, you will often find it
necessary to express the current and voltage in terms of maximum or peak values, peak-

to-peak values, effective values, average values Voltage and
oF Pnatantaneous valtes. Bach’ of thase values J
v current in phase
m

has a different meaning and is used to describe NV
a different amount of current or voltage. I \ / x

Peak Value[Ip] Time —o
Refer to figure, it is the maximum \ /

value of voltage [V,] or Current [Iy]. The peak

value applies to both positive and negative Fig. 1.6

values of the cycle.
Peak-Peak value [Ip-p]

During each complete cycle of ac there are always two maximum or peak
values, one for the positive half-cycle and the other for the negative half-cycle. The
difference between the peak positive value and the peak negative value is called the
peak-to-peak value of the sine wave. This value is twice the T
maximum or peak value of the sine wave and is sometimes

used for measurement of ac voltages. Es::: 10
Note the difference between peak and peak value
to-peak values in the figure. Usually alternating voltage and |
current are expressed in effective values rather than in T
peak-to-peak values. \F;Zﬁj;

INSTANTANEOUS VALUE i

The instantaneous value of an alternating voltage or current is the value of
voltage or current at one particular instant. The value may be zero if the particular
instant is the time in the cycle at which the polarity of the voltage is changing. It may also
be the same as the peak value, if the selected instant is the time in the cycle at which the
voltage or current stops increasing and starts decreasing.

There are actually an infinite number of instantaneous values between
zero and the peak value.

AVERAGE VALUE

The average value of an alternating current or voltage is the average of all
the instantaneous values during one alternation. Since the voltage increases from zero to
peak value and decreases back to zero during one alternation, the average value must be
some value between those two limits.
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The average value of A.C. is the average over one complete cycle and is
clearly zero, because there are alternately equal positive and negative half cycles.

2
Average voltage = _ x peakvalue
n

ROOT MEAN SQUARE VALUE

Circuit currents and voltage in A.C. circuits are generally stated as root-
mean-square or rms values rather than by quoting the maximum values. The root-
mean-square for a current is defined as the value of steady state current which when
flowing through a resistor for a given time produces the same amount of hit as
generated by the alternating current when passed through the same resistor for the
same time.

17 -

N ERS | —_m
rms T ([ i2dt rms \/E

Vi =1.11

Form Factor = V
ave

It is the ratio of RMS value to average vale of voltage or current.

SINE WAVES IN PHASE

When a sine wave of voltage is applied to a pure resistance, the resulting
current is also a sine wave. This follows Ohm’s law which states that current is directly
proportional to the applied voltage. To be in phase, the two sine waves must go through
their maximum and minimum points at the same time and in the same direction as
shown in the figure.

Voltage wave E1 E,

Current wave

90
270 360_ 360 Time_
! I I ' 90 ®\ 270\ /
0 _ )
0 90 180 Time Fo
Xis .
Time
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Sine Waves Out of Phase

Figure shows voltage wave E1 which is considered to start at 0° (time
one). As voltage wave E1 reaches its positive peak, voltage wave E2 starts its rise (time
two). Since these voltage waves do not go through their maximum and minimum points
at the same instant of time, a phase difference exists between the two waves. The two
waves are said to be out of phase. For the two waves in figure, the phase difference is
90°.

PHASORS
In an a.c. circuit, the e.m.f. or current vary sinusoidally wih time and may
be mathematically represented as
E = EO sin wt
and [=10sin (wt = 6)
Where 0 is the phase angle between alternating e.m.f. and current.
Displacement of S.H.M. also varies sinusoidally with time i.e.
Y =Asin wt
And its instantaneous value is equal to the projection of the amplitude A
on Y-axis. Therefore,instantaneous values of alternating e.m.f. (E) and current (I) may be
considered as the projections of e.m.f. amplitude (E0) and current amplitude (I0)
respectively. The quantities, such as alternating e.m.f. and alternating current are called
phasor. Thus a phasor is a quantity which varies sinusoidally with time and represented
as the projection of rotating vector.

PHASOR DIAGRAM

The generator at the power station which produces our A.C. mains rotates
through 360 degrees to produce one cycle of the sine wave form which makes up the
supply.

In the next diagram there are two sine waves.

They are out of phase because they do not start from zero at the same time.
To be in phase they must start at the same time.

The waveform A starts before B and is LEADING by 90 degrees.

0_ ' 90_1% 270"  3¢0_ AB

Waveform B is LAGGING A by 90 degrees.

The next left hand diagram, known as a PHASOR DIAGRAM, shows this in another way.
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It is sometimes helpful to treat the phase as if it defines a vector in a
plane. The usual reference for zero phase is taken to be the positive x-axis and is
associated with the resistor since the voltage and current associated with the resistor
are in phase. The length of the phasor is proportional to the magnitude of the quantity
represented, and its angle represents its phase relative to that of the current through
the resistor. The phasor diagram for the RLC series circuit shows the main features.

AV,

Vi ch \A XL lxc
\ Z
- »\R
. VR () Ve 5

Vey

Note that the phase angle, the difference in phase between the voltage and
the current in an A.C. circuit, is the phase angle associated with the impedance Z of the
circuit.

AC SERIES CIRCUIT

RESISTANCE AC CIRCUIT
A resistance R connected to an ac source is shown. Its voltage can be
written as
e = E,, sinwt
i=1,sinwt

i= Emginwt = I, sinwt
R

The above two equations depict that voltage and current in resistive
network are in phase. Figure shows the voltage and current waveform and phasor
diagram.
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POWER IN RESISTIVE NETWORK

The instantaneous power
curve is plotted in figure it is seen that
the power curve is always positive in
case of resistive network and equal to

Time —=

p:etXi:Et Imsinzwt:E | (1—co§2wt\|: Etm?lm _Etglm

tmmk )

The above power equation shows that the power has two components, one is

xCO0S 2wt

m

E |
constantie. _ " " & an ac component _"™ " cos 2wt . The average value of ac component

2 2
E |
in one cycle is zero. Therefore Average power p = Bunln _ M M E,l
2 N2 2
Inductance AC Circuit
Figure shows an inductance E
L connected to an ac supply which voltage Ep | | - L
is givefl by VsE;,Sinwt, i= Cf\, E 3L
: T
I singpwt—— 1

L2

The above equation shows

Er =E_ I=1

Tm

wL
current inductor and this quantity wLis known as inductive reactance denoted X,

Hence X, =wL

that current lags the applied voltage by 90 Where |l » ~ , the quantity WL controls the

POWER IN INDUCTIVE NETWORK

The instantaneous power in a purely inductive network is
. . . T
p=e xi=E sinwtxl sin wt-——
T ™m m L 2)|
= —-E;, I, sin wt.cos wt
_ —E;plp, sin 2wt
2

The average power in a pure inductor during a cycle is zero.
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CAPACITANCE IN AC CIRCUIT

Figure shows a capacitor C connected to an ac source equation of voltage &
current are given below
(0 T

v=V sinwt, | sin|wt+—

; \ |
L ?)

1
V .
Equation shows that current leads voltage by 90'and In ==~ Where s known as

wC
capacitive reactance denoted as X, . Its unit is ohm.

~ — 350 >
v rma( i v ol >
& — | | \></ ‘ |
= | |
| |
|

/i f /i f A f i
e Ll - | - |
Chargs Ulsahargs Crage Diedhangs

POWER IN CAPACITIVE NETWORK

The instantaneous power in a p(urely ca]pacmve network is
p=vxi _V sinwt x | sm| wt+ & |

U2
V,1,,sin 2wt
2
The average power in a pure capacitive network is zero.

SERIES RL NETWORK

I
1 Eg

Voltage lmpedancc-
g B niti

L=le=1,
Figure shows a resistor (R) and inductor (L) series network with its phasor
diagram and impedance diagram. As discussed earlier E; is in phase with [ and E, leads

[by 90'.
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E,=E +E, = (R+jX.)
Hence = I1Z =1 (R+ jX,)
=Z=(R+ jX_.)=R+ jwL

Where magnitude of Z =/R?+ X2

The quantities R, X, ,Z are shown in the impedence diagram.

POWER IN SERIES RL NETWORK

The average power in RL series circuit is
p= Ernln cosO = Er L”‘

2 V2 2

E 1cosO isknown as active power. p=E 1cosO =E |
T T T

cosO = E; | cosd

= & IR=1?R"I = &

'z Z

N| ©

Thus the active power in ac circuit represents the power dissipated across
resistance. It is measured in watt. The product of RMS voltage & current i.e. VI is known
as apparent power and measured in volt ampere. The ration of active power to apparent

power equals to cosO where 0 is the phase angle between V & I. The term cos0 is called
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power factor of the circuit. The power factor is zero in case of pure inductive or
capacitive network. The power factor of a circuit may be either leading or lagging. A
leading power factor means that the current in the circuit leads the voltage and lagging
power factor means the current lags the voltage. The power factor of a circuit is the ratio
of resistance to impedence .

The instantaneous power across inductor of capacitor is known as reactive
power. Thatis Q = 12X = 1?wL = 12Zsin® = E |l sin0

The reactive power does not contribute anything to the net energy transfer
from source to load. Yet it constitutes a loading of the equipment.

The apparent power VI, active power VI cosO and reactive power VI sin@
is also applicable in this case too. Current in RC circuit leads the apply voltage and
therefore the power factor is leading.

SERIES RC NETWORK R
Figure shows a E. |1 VW |
series RC network ( C
"\D V- ==
S I N §
wC LR wC Iy
1z=1lRo e\ 52 =R-wb=R-jX B, =B+ E.
— — C
\ J . 1=lz=1¢
X. = Capacitive Reactance = —
wC
itudeofZ =[R2 +
magnitudeofZ = + ey
SERIES R-L-C CIRCUIT
R L C V-
Y Y YN |1
AVAVAV 1
Ve SR Ve
i':t = I'"" Sin((')t) S Resistance Inductance Capacitance
! - (fﬁ’\) { “in-phase™ ) ("EL1T) (p“ICE']
,J{s Ve
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X=X - X

|

Consider a series R-L-C circuit as shown in the figure. The voltage V;is in
phase with the current, the voltage V leads the current by 90'and the voltage V _lags the
current by 90'. The total impedence

Z=7+7Z +Z
=R+ j(XL-Xc)

We can find that the reactance is positive if X, > X.and negative if
Xc > X_. If X_ > X. the circuit behaves like an R-L series circuit and current lags
voltage by an angle 0 if X, > X, the circuit behaves as an R-C series circuit and current

leads the applied voltage by angleO . The phasor diagram for both cases are shown.

The magnitude of the impedence is given by

Zl=(R+ (X -X. ) =¥
YA

wi- 1

0 =tan—WC
R
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CHAPTER-4

R L C
RESONANCE — — - — I—
Consider a series R-L-C circuit
as shown in the figure. The impedence of the : \;;e
circuit is given by i\

T \Y

Z=R+j(X|_—Xc)

where X isinductive reactance =wL and X = capacitive reactance =

- ¢ wC
Either side of resonance At resonance the valtage
the woltage drop = V-V drop equals zero
= L C E
XT =0
AN A
short circuit
Ve | VL - Ve | Va | Ov
|- -
IMIN Imn " 'fr
S R - 1
Capacitive } Inductive Capacitive Inductive
im- P S Zy  Ker Xl | XerXe
@ - ! - < | -
£ \ T. o XL t I
5 Inductive and Capacitive 3 |
= Reactances are equal here s |
g IXi=Xc = :
3 ! 5 "
g — 1
& I
XL - X: T :
|
|
Xe Z=R
¢ {,r ] Frequency. f 0 =4 >
Series Resonance o - {".\'r] Frequency, [
yn amic

impedance  Series Resonance

As frequency of the supply is increased X, increases and X. decreases. At
one particular frequency X, = X; and the total reactance of the circuit become zero. At

this particular frequency the impedence is resitive and voltage & current are in phase.
This phenomenon is known as resonance.

X, =X¢

= 2n foL = L
2n f,C

= f,= L

2t LC
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fo is called as frequency of resonance. Impedence Z of the R-L-C series

. : V
circuit is equal to R at resonance and current is equal to __.
R

Q Factor

The ratio of capacitor voltage or inductor voltage at resonant frequency to
supply voltage is a measure of quality of a resonance circuit. This term is known as
quality factor (Q factor).

At the frequency of the resonance ( fo)

Vo= IX :!x |:\i
L L R L R
o=t _ X _2nfL
V R R
Ve X, 1

Bandwidth y
I 1= 2
At resonant frequency current in the s | -
R-L-C series circuit is maximum. Let us define two )
3dB
frequencies W, &w, at which current is 707l . °7% ™ :
]
The frequency w,;&w, are called half power Loy
[
frequency. | Bw |
| L
b
Bandwidth = wo — ws ] _
0 {/J N \; Frequency. 7
JL ° JH
Lowear Upper
frequency frequency

Where w2 = upper half power frequency, wi = lower half power frequency.

Relationship between O and Bandwidth of R-I1.-C series circuit

Bandwidth = wy — w1

Atw= w,, the reactance is capacity as X, > X,

Hence

Wy

From equation1 we get w?LC + WRC -1=0
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Dividing by LC we get w2 +w E— 1 o

TS

) —_\/—ﬁ—
2L 4.° LC

Similarly from equation 2

WZ—RW—l_ZO
2 LC

2
ML
2L 42 LC

2L
R

WZ_

Hence bandwidth

The Parallel Resonance Circuit

In many ways a parallel resonance circuit is exactly the same as the
series resonance circuit we looked at in the previous tutorial. Both are 3-element
networks that contain two reactive components making them a second-order circuit,
both are influenced by variations in the supply frequency and both have a frequency
point where their two reactive components cancel each other out influencing the
characteristics of the circuit. Both circuits have a resonant frequency point.

The difference this time however, is that a parallel resonance circuit is
influenced by the currents flowing through each parallel branch within the
parallel LC tank circuit. A tank circuit is a parallel combination of L and C that is used in

filter networks to either select or reject AC frequencies. Consider the parallel RLC circuit
below.

Circulating

rrer e
LUIrents

v

5\
J
—_— 7+
—
m
—
E

Yo
s
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Let us define what we already know about parallel RLC circuits.

Admittance, ¥ = — = —__-, -

Lo

Capacitive Susceptance, B, = 2n fC

A parallel circuit containing a resistance, R, an inductance, L and a
capacitance, C will produce parallel resonance (also called anti-resonance) circuit when
the resultant current through the parallel combination is in phase with the supply
voltage. At resonance there will be a large circulating current between the inductor and
the capacitor due to the energy of the oscillations, then parallel circuits produce current
resonance.

A parallel resonant circuit stores the circuit energy in the magnetic field of
the inductor and the electric field of the capacitor. This energy is constantly being
transferred back and forth between the inductor and the capacitor which results in zero
current and energy being drawn from the supply. This is because the corresponding
instantaneous values of I, and I¢ will always be equal and opposite and therefore the
current drawn from the supply is the vector addition of these two currents and the
current flowing in Ig.

In the solution of AC parallel resonance circuits we know that the supply
voltage is common for all branches, so this can be taken as our reference vector. Each
parallel branch must be treated separately as with series circuits so that the total supply
current taken by the parallel circuit is the vector addition of the individual branch
currents. Then there are two methods available to us in the analysis of parallel
resonance circuits. We can calculate the current in each branch and then add together
or calculate the admittance of each branch to find the total current.

We know from the previous series resonance tutorial that resonance
takes place when Vi = -V¢ and this situation occurs when the two reactance are
equal, X1, = Xc. The admittance of a parallel circuit is given as:

1 1 ~
= _ + £y
VER T qer TleC
or
_1 1 ,
Y—§+2:f|—+2n]‘c
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Resonance occurs when X, = Xc and the imaginary parts of Y become zero.
Then:

. a1
X =X, = 2"}"72:1:;(:

f = '71
4m LC
= 1,_[Hz‘| or o = 1_ (rads)
2n4LC +LC

Notice that at resonance the parallel circuit produces the same equation
as for the series resonance circuit. Therefore, it makes no difference if the inductor or
capacitor is connected in parallel or series. Also at resonance the parallel LC tank circuit
acts like an open circuit with the circuit current being determined by the
resistor, R only. So the total impedance of a parallel resonance circuit at resonance
becomes just the value of the resistance in the circuit and Z = R as shown.

Either side of resonance the Atresonance the
current = I - I¢ reachve current 1s zero
Tiany I - Ie Trarn

f>‘<,

R Xr=oao
open circuit

'

Impedance in a Parallel Resonance Circuit

Note that if the parallel circuit’s S
impedance is at its maximum at resonance then
consequently, the circuit’s admittance must be at its Capacitive
minimum and one of the characteristics of a parallel |47 %

Inductrve
XL Xe
R

resonance circuit is that admittance is very low limiting the
circuits current. Unlike the series resonance circuit, the Dynamic
resistor in a parallel resonance circuit has a damping impedance
effect on the circuit’s bandwidth making the circuit ' v ~ N
less selective. ° o Frequency. J

Farallal kesonance
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Also, since the circuit current is constant for any value of impedance, Z,
the voltage across a parallel resonance circuit will have the same shape as the total
impedance and for a parallel circuit the voltage waveform is generally taken from across
the capacitor.

We now know that at the resonant frequency, fr the admittance of the
circuit is at its minimum and is equal to the conductance, G given by 1/R because in a
parallel resonance circuit the imaginary part of admittance, i.e. the susceptance, B is
zero because Br = B¢ as shovn.

Bandwidth & Selectivity of a Parallel Resonance Circuit

The bandwidth of a parallel resonance circuit is defi ed in exactly the
same way as for the series resonance circuit. The upper and lower cut-off frequencies
given as: fupper and flower respectively denote the half-power frequencies where the
power dissipated in the circuit is half of the full power dissipatec at the resonant
frequency 0.5( I? R ) which gives us the same -3dB points at a current value that is equal
to 70.7% of its maximum res onant value, ( 0.707 x )2 R.

As with the series circuit, if the resonant frequency re ains constant, an
increase in the quality facta,Q will cause a decrease in the bandwidth and likewise, a
decrease in the quality factor will cause an increase in the bandwidth ¢ s defined by: BW

=fr/Q or BW=f2-f2.

Also changing the ratio between the inductor, L and tl e capacitor, C, or
the value of the resistance, R the bandwidth and therefore the frequency response of the
circuit will be changed for a fixed resonant frequency. This technique is used extensively
in tuning circuits for radio and television transmitters and receivers.

The selectivity or Q-factor for a parallel resonance circuit is generally
defined as the ratio of the circulating branch currents to the supply current and is given
as:

_ Vout
Vin

R
R _o1/CR=R
Ty {

=l

Quality Factor, Q =

o707 f_cHE__f 0

Note that the Q-factor of a parallel resonance
circuit is the inverse of the expression for the Q-factor of the
series circuit. Also in series resonance circuits the Q-factor
gives the voltage magnification of the circuit, whereas in a i
parallel circuit it gives the curent magnification. ’ VAR

Lewer Unpar
frequency frequency
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CHAPTER-5
Transient Response of Simple Circuit (DC)

Circuits that contain capacitors and inductors can be represented by
differential equation. If a circuit contains one resistor and one Inductor (or one
capacitor), it can be represented by first order differential equation. On the other hand if
a circuit contains a resistor, inductor and Capacitor it can be represented by a second
order differential equation. The solution of the differential equation represents the
response of the circuit. The response consists of two parts (1) Transient response (2)
Steady State response. The transient response depends on the circuit elements and initial
energy stored in it. To obtain the transient response of the network it is necessary to find
the initial state of the network.

Initial Condition

Initial condition of a circuit is important to be calculated when a change of
state occurs and the change of state of the network occurs when the switch change its
position at time t=0. The value of voltage, current derivatives of both at t=0-and t=0*,
that is immediately before and after change of switch position. Initial conditions in a
circuit depends on the past history of the network prior to t= 0-. We will assume that the
switch in the network has been in a position for a long time and at t=0, the switch
changes its position. That is we say the circuit is in steady state at the time of switching.

Initial condition in circuit elements.

1. Resistor:- By Ohm’s Law we have V= IR, if there is a change in voltage, the
current through resistance will change simultaneously. Similarly if the current
change, voltage across resistance changes simultaneously.

2. Inductor:- Current through inductor cannot change instantaneously, if the
current through an inductor before switching is zero, then the current through
inductor after switching is also zero.

i.e. i,(0*) =iL(0)=0
In the same way if the current through inductor before switching is lo, then the
current through inductor after switching is also Io. i.e. iL(0*)=iL(0")= lo.

3. Capacitor:- Voltage across capacitor cannot change instantaneously. If the voltage
across capacitor before switching is zero, then the voltage across capacitor after
switching is also zero.

Vc(0*) =Vc(0)=0
If the voltage across capacitor prior to switching is Vo then the voltage across

capacitor immediately after switching is
V¢(0*) = V¢(0)=Vo
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The equivalent from of the elements in terms of the initial condition of the
elements is shown below.

ELEMENT EQUIVALENT FORM AT t=0*/EQUATION CIRCUIT AT
t=0 t= o0
R R
L oc sC
U o a0 —_———
N —— g oc
—a h—
=] i i)
e - S
o, s

oc
G—||||—0 —
Va

To solve the initial condition of an element it is necessary to study the
steady state behavior of this element. The steady state behavior can be obtained from the
basic relations.

=LY j=cf

de de
At t=00, Vi, = 0 hence the inductor acts as short-circuit
Similarly at t= o0, iL.=0 hence the capacitor acts as open-circuit.

Example: In the network showrcldn fig.1, the switch K is called at t=0 with the capacitor

d?i
uncharged. Find the value of i, E’ d—tlg att= 0+
R
= A
5005 l
__l__Euv 1pF _|_ c

Solution:

Apply KVL to the circuit

Rif+% I At = Voo eq. (i)

) 1

= 500i+ Fxgg&  J1dt =50 mmmmmmmmmmmm oo eq. (ii)

Ve (0*) =Vc(0)=0
Att=0* 500i (0*)+ 0=50

i(0*) = 50

i(0+) =00 0.1A
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Differentiating eq. (ii)

di
500d—t+i Tx108 = 0mmmmmmmmm e eq. (iii)
Att= 0+ SOOE(O-F) = - (0+)' 1=10-% =- 1x%10-8 x0.1
di
—(0+) = - 105 _ _
= dt(o ) 00" 2000Amp/sec.

Differentiating eq. (iii)

dzi ! di _
500 a2 T 1x10% E—
1 di 1
= 500 dtz (0= —gg5e 0= —gq (2000)
d3i 2000x108
= diz (0Y)= 500 =4x100A/sec?

Transient Response of series R-L circuit having DC Excitation.
Consider a R-L series circuit as shown in figure. The switch is closed at time t=0
Applying KVL (=0

Ldi(t) +Ri(t) =V —ANN—
R
- Do " E
General solution of the differential equation "
-R

: 4 t
iM)=2+ ke -
Since inductor behaves as an open circuit as switching
i(01)=0

0=Y+K or K= -
R

Therefore i(t) =Y -V eR/LO =V [1-e(R/L)Y]
R R

R
Voltage across inductor Vi (t)=L 4D _ yelr/my
dt

Voltage across resistor Vr(t)= V[1-e(R/L)Y]
Att=0,i(t)=0,VL(t) =V Vr(t)=0

At t=0o, i(t)—V VL(t) 0, VR(t) v
Att=" i (1-e1) = 06327, Vi(t) = 0.368V
R R R

i(t) & V(t) are plotted in figure.
L
T :E is known as the time content and is defined as the interval after

which current or voltage charges 63.2% of its total change.
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Let us analyses the transient condition of the R-L circuit as the circuit
reaches steady state charging switch to S1

dit (t)

L +Rit(t)=0

dt

Solution of il(t) = Kle(-R/L)t
Steady state currenti(0*) =i(o0) =L
=K

1=V
R

[
~

el

=S

=
v dit (1)
Therefore i'(t) = 7 e/, VIR(t) = Ve(-R/L)t Vi () = L —— = -Veth/x

il(t) and VIR(t), VIL(t) are plotted below.

I Steady State Value

e

- Transignt Time pl

Transient response of series R-C circuit having DC excitation.

Consider a series R-C circuit as shown in figure. The switch S is closed at
time t=0. Applying KVL t=0
Ri(t)+%fi(t)dt:V S

Differentiating, we get "
R 4+ Lj(t)=0 i

dt ¢

General solution of this differential equation is _

i(t)=Ke-tRC
att=0*,i(0%) :;7/ "+ capacitor acts as a short-circuit at switching.

V=Kedl =K=V
R R

Therefore i(t) = e -t/RC
R
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Voltage across the resistor and capacitor are
Vr(t)=i(t).R = Vet/RC
Ve(t) =— =— — -t/RCdt

= — (-RC) e*/RC = V(1-e/RC)

Att=0,i(t) =— Vc(t)=0,Vr (t)=V

Att= o, i(t) =0, Ve(t)=V, Vr(t) =0

Att=RC i(t)=—e1=0.368—, vl
Vi(t)=V(1-e1) =0.632V 0363 %,
Let us analyze another transient "

condition of R-C circuit as the circuit reaches
at steady state (at t=00) by closing switch at point 2

Ril(t) +- 1(t) =0
Differentiating we get
R +4(t)=0

Its solution is i1(t) = Ket/RC

A

However at t=0*, capacitor keeps the steady state voltage V¢(0*) = V and

direction of il(t) during discharge is negative

i(0)=--—
- —=Ke0=K=---

i(t) =-—ewre VIg(t) = i%(t). R= -V e /e
Vel (t)=- 1(t)dt=Vere
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CHAPTER 6
LAPLACE TRANSFORM

The Laplace domain or the "Complex s Domain" is the domain into which
the Laplace transform transforms a time-domain equation. s is a complex variable,
composed of real and imagirary parts:

3=0 + &

The Laplace domain graphs the real part (o) as the horizontal axis, and
the imaginary part (w) as the vertical axis. The real and imaginary parts of s can be
considered as independent quantities. The similarity of this notation with the notation
used in Fourier transform tk eory is no coincidence; for & = 1), the Laplace transform is
the same as the Fourier transform if the signal is causal.

The mathematical definition of the Laplace transform is as follows:

Fs)=£{f0)} = [ efit)a

LEAR

—

The transforn, by virtue of the definite integral, rem ves all t from the
resulting equation, leavﬂing instead the new variable s, a complex numt er that is normally
written as & = & + }%7 In essence, this transform takes the function f(t), and
"transforms it" into a function in terms of s, F(s). As a general rule the transform of a
function f(t) is written as F(s). Time-domain functions are written in lower-case, and the
resultant s-domain functions are written in upper-case.

We will use the following notation to show the transforn of a function:
fit) < Fis)

We use this notation, because we can convert F(s) back into f(t) using
the inverse Laplace transform.

The Inverse Transforn

Initial Value Theorem
i 7 Ay
fi{) < lim 5F {5)

This is useful for finding the initial conditions of a function needed when
we perform the transform of a differentiation operation.
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Final Value Theorem

Similar to the Initial Value Theorem, the Final Value Theorem states that
we can find the value of a function f, as t approaches infinity, in the laplace domain, as
such:

lim f{t) < limsFis
!—,*—-ac;f-‘ / g—0 S :‘

This is useful for finding the steady state response of ¢ circuit. The final
value theorem may only be gpplied to stable systems.

Laplace Transformati am of Signal Waveform

: N !
Laplace transform of unit step function is _
S

|

Laplace transform of ramp function is —

S

Laplace transform of unit impulse function is unity.

The laplace transform can be used independently or different circuit
elements, and then the circuit can be solved entirely in the S Domain (Which is much
easier). Let's take a look at some of the circuit elements:

Resistor

Resistors are time and frequency invariant. Therefore, the transform of a
resistor is the same as the resistance of the resistor:

Risj =+
Compare this result to the phasor impedance value for a resistance r:
Z, =71

You can see very quickly that resistance values are very similar between
phasors and laplace transforms.

Ohm's Law
If we transform Ohm's law, we get the following equation:
Vis) = I{s1R

Now, following ohms law, the resistance of the circuit element is a ratio of
V(s)

. . (g . .
the voltage to the current. So, we will solve for the quantity f 5] anc the result will be
the resistance of our circuit element.
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V{s)
I(s)
This ratio, the input/output ratio of our resistor is an inportant quantity,

and we will find this quartity for all of our circuit elements. We can say that the
transform of a resistor with resistance r is given by:

L{resistor}=R=r

R—

Capacitors

Let us look at the relationship between voltage, current, and capacitance,
in the time domain:
duit)
dt
Solving for voltage, we get the following integral:

o(t) = % T i(t)dt

21]

i{t)=C

Then, transforming this equation into the laplace domain assuming the
zero initial condition, we get the following:

. 11
Vis)

Again, if we solve for the ratio E[S,} , we get the following:

Vi(s) 1

I{(s)  sC
Therefore, the transform for a capacitor with capacitance C is given by:

1
L{capacitor} = e

Inductors
Let us look at our equation for inductance:
di(t)

&t

vft) =L

Putting this i r to the laplace domain assuming the zer initial condition,

we get the formula:

i

{
And solving for our ratio I'-ﬁf , we get the following:
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Vis) _
(s)

Therefore, the transform of an inductor with inductance L is given by:

sl

Impedance ﬁ{fﬂdm-ﬁ’} = sL

Impedance of all the load elements can be combined into a single format
dependent on s, we call the ¢ ffect of all load elements impedance, the same as we call it in
phasor representation. We denote impedance values with a capital Z (but not a phasor £

).

s-domain t-domain s-domain
+ (s + - * 1
A 5 (5]
Vas) % R <:) Valt) 'n (U R !:l,> Vafs) R
Series model for Parallel model for
capacitor and inductor capacitorand inductor
Initial conditions modeled as voltage sources Initial conditions modeled as current sources
+ 1ts) —=="
o, —— /isC} + 7—' S —
ft) I/sC
Vyis) <:| Y R e |:> Vyls) ’c(S’:: Cv,{0)
Vo (0l/s - -

I(s)
L CI|> Vis) 2L i(00s

Determining electric currentin circuits

In the netvork shown, determine the
character of the currents I Ltj, I?{t}, and I-'!";t,j assuming
that each current is zero when the switch is closed.
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Solution:

Current flow at a joint in circuit

Since the algebraic sun of the currents at any junction is zero, then
Lt - L{t) — Ls(t =9

Voltage balance on a circuit

Applying the voltage law to the circuit on the left we get

= Bt

dI-z ()

LiljR + Ly

Applying again the voltage law to the outside circuit, given that E is coIstant, we get

dlL(t)
dt

Laplace transforms of current and voltage equations

I‘lq‘i.l.R‘]_ +.§-3it;R +L3 :E{f!ﬁ

Transforming the abc ve equations, we get

1{8) — 2y fbj—a,;{b}:l]

t{s) Ry + sLlaigls) =

o | tr

-I{S;R‘]_ —I_ (Ra—l_ 3.-.:_‘5;:.‘_15\5) -

The above three Laplace transformed equations show the benefits of
integral transformation in converting differential equationsinto linear algebraic
equations that could be solved for the dependent variables (the three currents in this

case), then inverse transformed to yield the required solution

Example: Find the capacitor voltage.
Ve (t) -

|
[N

05F

- +
vL(t)§1H vR(t)§SQ G u(t)
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+V.(s) —

I
LS

%

_ S +

V. (s) % S VR(S)§ 3 1
o)

+V(5) - +Ve(s) -

| £
S

wito gy O

[Z I [V)

2 3
[3+—+ 3]I(3}+—: 0
Y &

-3
= [{s)= —
3+ 3542
The capacitor’s voltage
ACERRIC RN
¢ S s(s’°+3s+2)
Expanding V (s) by partial fraction
V=6 K K K
¢ s(s+1)(s+2) s s+l s+2

v (t) = (—3+ 6et — 32 ) u(t)
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Step response of an R-L circuit < AN

R
Consider the RL circuit as shown in the
figure assuming the initial current to be zero. At t = 0 <+>
the switch is closed and the voltage E is impressed on -
the circuit. The differential equation on application of
KVLis
di(t
Ri(t)+L daift) =E
dt E
= RI(s)+LI[sl (s)-i (0)]=
R
E...
= 1(s)[sL+R]="""i (0)=0
P
i ]
Sis)-—5 - E :5||l- -
sL+R s S+B R[S S+RJ
L L
o . E =]
takinginverseLT = i(t) = _|1-e" |
RL |
Step response of an R-C circuit e

Consider the R-C circuit as shown in the _'VV\'—>(—

figure assuming the initial current to be zero. At t = 0 the
switch is closed and the voltage E is impressed on the <+>
circuit. The differential equation on application of KVL is =

1t
Ri(t)+ = [i(t)dt=E

Cl; I(s)] _E
C| S |_s

r L]
=I1(s) R+ L1_E
S

= RI(s)+

L Cs |
E

:>I(s)=_E1_
S+
RC

il
takinginverseLTi(t) = %etRc

Ve
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Step response of an R-L.-C circuit

Consider the R-L-C series circuit as shown
in the figure assuming the initial current to be zero. At t
= 0 the switch is closed and the voltage E is impressed
on the circuit. The differential equation on application of
KVLis

di) 1

Ri('[)+L J.('[)d'[—
=R (s)+L[sI (s)h+”i—N £

L
E E
L
=1(s)= SL+R+ 82+BS+—1
Cs L LC
E
=1(s)= K K

(s-st)(s-s2) (s-s1) (5-%2)

=i(t)=Kge" + K g~

Where s1 & S are the roots of the characteristic equation

1
s +R 4 and K &K are constant.
Ls LC 1 2

Value of s; &S, can be determined as

S,S,=—

R RY 1
— w5 | =
oL ZLJ LC
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Problem 1

In the network shown in the figure, the switch Sis closed and a steady state is attained. At t = 0, the
switch is opened. Determine the current through the inductor for t > 0.

L2y,

R= 250 l
5V_— C =200 uF L=05H

+

|
1

Solution

When the switch Sis closed and the steady-state exists, the current thiough the inductor is,

i0-)=Y -3 -2a
R™25

The voltage across the capacitor, V¢ (t) = 0 as it is shorted.

For t > 0, the switch is opened. By KVL,

dz

d C Jldi

Taking Laplace transform,

/ (S)

LIsI(s)—i(0-)]+——=0

or 1(s)|:sL + é} = Li(0-)

Putting the values,

=25 %

Taking inverse Laplace transform,
i(t)=2cos100r (A);t=0
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Problem 2

A sernies R-L-Ccircuit withR=3Q,L =1Hand C=0.5F is excited with a
unit step voltage. Obtain an expression for the current, using Laplace
transform. Assume that the circuit is relaxed initially.

Solution
By KVL,

. 0—
RI(s) + sLI(s) - L;{(}_H%;{ﬁ,” QEC }:T:-

Since the circuit is initially relaxed,
“i(0-)=0 and QO(0-)=0

Putting the values,
2 1
/ +5+—|=—
{5)[3 s+ 3] -

1 1 A, A,

_ _ — = +
ariis) s?+3s+2 (+D(s+2) s+1 s+2
h A_L =1 @nd: A= : =1
where, I_ﬂ+2x=—l_ 27 s+1 _.|.=_9_

- — l i 1

..f{:-:}—5+1 s+2

Taking inverse Laplace transform,
i(t) = e~ T+ e72L(A)

= 2¢*'2 sinh (%) (A)
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Problem 3

The circuit was in steady state with the switch in position 1. Find the
current (1) for t = 0 if the switch i1s moved from position 1to 2 att = 0.

10Q

10V == — 50V 0.5H

Solution

When the switch is in position 1, steady-state exists and the initial
current through the inductor is,

10
i(0-)=—=14
0=

After the switch Is moved to position 2, the KVL gives, in Laplace

transform,

10/(s)+ 0.5s1(s)—-0.5%x1= 3

']

of, I(s)= == + ! —51— : + l
’ s(s+20) s+20 |s s+20] s+20

Taking inverse Laplace transform,
i()=5-4¢" (A);t>0;
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Problem 4

Find the response current of a series RL circuit consisting of a resistor
R =30 and an inductor L = 1 H when each of the following driving force
voltage is applied:

a. unitramp voltage (¢ -2,
b. unitimpulse voltage § (£ —2),

c. unit step voltage y (¢ -2).

Solution
a. Unitramp voltage r (1 —2)

Applying KVL to RL series circuit,

Ri+L%=v(t)=r(t—2)

Taking Laplace transform,

(R +sL)1(s)=ie‘2-"

Substituting the values,
=2
Ay ‘ K K
I(s)=—t—— =g |:_1+K_.2+_31|

sz(s+3) 52 K s+3
s o] o2
s+3 =0 3
Ko
ds|s+3 || _ (s+3)° 9
= s=0
1 1
K, =— =—
. sz s=—3 9

2 1(s)=e-2-*[”3 M VY ]
s s s+3



Taking inverse Laplace transform,

i(t)=—%u(t—2)+%r (1-2)+%e'3("2)u(t——2) Ans.
b. Unitimpulse voltage § (¢ —2):

In this case,

Taking Laplace transform,
(R+sL)i(s)=e
=25 =25

1(s)=( e __.

sL+R) (s+3)

Taking inverse Laplace transform,
i(t)= e-3('—2)u(t -2)  Ans.

c. Unit step voltage u (t -2)

In this case,

Ri+L—t=v(t)=u(t—2)

Taking Laplace transform,
-25
(R+sL)I(s)=*—
§

Taking inverse Laplace transform,

i(t)=%u(t—2)—%53('-2)11(!—2) Ans.




CHAPTER 7

TWO-PORT NETWORKS

"

v One-Port
Network

L

a) A pair of terminals at which a signal (voltage or current) may enter or leave is
called a port.

b) A network having only one such pair of terminals is called a one-port network.

c) No connections may be made to any other nodes internal to the network.

d) By KCL, we therefore haveii=i1

& T &
_> 4_ |2
+ +
Two-Port
V1 V2
Network
) <_il1 = il2 _>

» Two-port networks are used to describe the relationship between a pair of
terminals

* The analysis methods we will discuss require the following conditions be
met

1. Linearity
2. No independent sources inside the network
3. No stored energy inside the network (zero initial conditions)

4. ir=11and i2= 1
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Impedance Parameters
= Suppose the currents and voltages can be measured.
= Alternatively, if the circuit in the box is known,V1and V> can be calculated
based on circuit analysis.
= Relationship can be written in terms of the impedance parameters.
= We can also calculate the impedance parameters after making two sets of

measurements.
Vi=z11l1+z1212

Vo=22111+222l7

If the right port is an open circuit (I2=0), then we can easily solve for two of
the impedance parameters: Similarly by open circuiting left hand port (I1=0 ) we can
solve for the other two parameters.

_ : _Vo _
2. inputimpedence = % 1, =0 Z,, = forwardtransferimpedence = I12 I, =0
1
_ : Vi 2 _ : Vo —
Z,, = reversetransferimpedence = |—| I,=0 Z,, =outputimpedence = |—| IL=0
2 2
Impedance Parameter Equivalent
L <
11 222
+ +
V1(S) lel 2 VZ(S)
& 4

Vi1=21111+212l5

V2=22111+222l>

¢ Once we know what the impedance parameters are, we can model
the behavior of the two-port with an equivalent circuit.
¢ Notice the similarity to Th’evenin and Norton equivalents
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Admittance Parameters

@ = &
—>» <
+ +
Two-Port
V1 V2
Network
i - I, —»

11=y11Vi+Yy12Vo
lo=y21V1+Yy22 Vo

Y,; = input admittance = \%|V2 =0
1

Y,, = forward transfer admittance = I—2|V2 =0
1

Y,, = output admittance = \—I/L|V1 =0
2

Y,, = reverse transfer admittance = \—|/1~|V1 =0
2

Hybrid Parameters
Vi=haili+hiaVo

l2=h21l1+h22V,
. . _V
h,, = input impedance = : V,=0
1
h,, = forward current ratio = —IIL|V2 =0
1
h - VAT
1, =reverse voltage ratio = |I1— 0
2

h,, = output admittance = —|2—| ,=0
2
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Example:

Given the following circuit. Determine the Z parameters.

1 I,
80 100
N AN
+ +
Vi §20Q § 200 Vo
Z =8+ 20|30 =20Q

11

Z,,= 20[30 = 120
Z,=Y1|I,=0
I,

v _ 20x1,x20 _ gx] Therefore z _ 8l, =80 =z
L 20+30 2 12

21
1,

The Z parameter equations can be expressed in matrix form as follows.

MBI

A Bl

L]

[w 1B Bl
L] L AL -
Example:

Given the following circuit. Determine the Y parameters.

I
|1 10 )
AN
+ 1 +
v, L= s
— s V2
= A —
10
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A
+ L +
1 1 Zs
Vl _— s - V2 P
( st
— A —
10
Tofindy,,
}g [ 2
V1:|1(2+1/S)ZI1L25+1IJ
|
=5+0.5

_ 1 -1
S0 Y11 v, 1 Vi‘ V, =0

Tofindy andy wereverse thingsand shortV
12 21 1

= by, -0
y21 V1| 2
I2 —
Yy = — =058
V,
I, 10 L
AN
sioit | 1 . +
Vi =—(— = %s
— 1 5 V,
— MN —
I 1Q
_ 1 _
Y, = v Vl_O
V=-2 y="_0g5s
2 1 12 E
y =05+"
22 S
y =LNV=0 V=l s y =05+%
VA 2 22




Problem 1

Find the Z and Y parameter for the networks shown in figure.

a.
b.
1'e a2
[ ]
c. ()
L 5 &
’
d.
1'e
Solution

a. BykKVL, (Z,+Z. )+ Z.I, =V,
and Z{.l'I' o I:Zb + Zt._}fz = VE
Thus, the Z-parameters are;

m=Z,+2.),z23=231=2,., zpn=(Z,+Z,)

1 2
za zb
DY
L ‘ &
-Il' 2!
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. ByKcL,

petizha_1, 1
zZ Z

andly= b1y, ]

Since, Ay = ¥, ¥ — M2V = 0, the z-parameters do not exist
for this network.

toe—rF Z |——e2

1! = :2!
. By KVL,
V1 -

L+1 1 1 I I
'y 1=V, or,V,=(7)I,+(7)lz and V2=(7)/,+(7)12

Thus, the z-parameters are,

™R =y = 4=

Since, Az = z,25, — 21525, = 0, the y-parameters do not exist
for this network.

. ByKCL,

L=YLh+(Kh-)=h{,+1) 11,
L=YV,+(V,-N.=-N . +V,(T,+ 1)

Thus, the y-parameters are:

m=Y,+Ysvp=yu=-Yiyn=YH+Y,
1 o—> <2
I4 l2
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Problem 2
a. The following equations give the voltages V; and V> at the two
ports of a two port network, V, = 5l1+2l, Vo = 211 +l5;

Aload resistance of 3 Q is connected across poit-2. Calculate the
Input impedance.

b. The z-parameters of a two port networkare z;1=5Q, 25, =2 Q, Z;5
=751 =3 Q. Load resistance of 4 Q is connected across the output
port. Calculate the input impedance.

Solution

a. From the given equations,

Vy =5l + 215 (i)

Vo =21 + 19 (i1)

At the output, Vo = — bR = — 3/
Putting this value in (i1),

—3la =2l +izfilp=—11/2

Putting in (i), V4 = 5/ + (‘T‘r'] = 41

d =40

.. Input impedance, Zj, = A
1

b. [Same as Prob. (a)] Zin = ? =3.50Q
1
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Problem 3

Determine the h-parameter with the following data:

i. with the output terminals short circuited, V1 =25V, =1 A, =2
Y

ii. with the input terminals open circuited, V=10V, Vo =50V, ;=2
s

Solution

The A-parameter equations are,
Vi =811 + Pi2V2
Iz = figydfy + hazVz

a. With output short-circuited, V- = 0, given: ¥y =25V, /; =1 A and
Iz =2 A

e 25 —] h]! b 1 _ B

o 2_'¢"2|><1}> = /My, =258 and /i, =2

b. With input open-citcuited, /; = 0, given: V; = 10V, Vs = 50 V and
=2 A

. 10 =iy, = 50

=ha 2=h—,-,><5ﬂ} => .f:|2=é=ﬂ,2:indIr23=iﬁ:{}.0415

25

Thus, the h-parameters are:

LAl = [2529 0 Dg'iz":|

Problem 4
a. Find the equivalent mnetwaork for the T-network shown in the Fig.
(a).
b. Find the equivalent 7T -netwaork for the rrnetwork shown in the Fig.
(b).
Fa=20 ZFp=250 Y5 = 0.2 %5
1 2
Zo=502
1 2'
(@)
Solution

a. Let the equivalent r-network have ¥Y¢ as the series admittance
and Y. and ¥z as the shunt admittances at poirt-1 and port-2,
respectively.

Iq

e M e Ve |9 %
-
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MNow, the z-parameters are given as:
IN=(Zy+Ze)=7Q, zp=2 =L =58, 2= (Lp+ Z)=T7.582

S AZ=(Tx75-5%x5)=27.5Q?

“¥Yn = %:%ﬂ

Yiz=¥a1 = —z =—2,;5i’5

i 2; :%U

S ¥as= Uﬁ!*‘y!z):%:]l_]zj

; _ 22
= Ye= {J”zz"'J"lz}:ﬁU

and '5"'(:: — Vo = 5 =£

27.5 11 <

Thus, the impedances of the equivalent m-networks are:

14 5.5 i
[ AN & «—8
+ +
Vi 110 13.75 :1% Ve
Equivalent rr-network
Z4= k3= 112, 1
o YA
1
Zp=—=13.75 ﬂ., 3
B YH
1
Le=—=55Q
C }rc
ZA = ZE=
¥a=10 0.625 (2 0.25 0
1 2
b.
Yi=0270 Yo=050T Zo=1.25
1' 2’ 1' 2r

mr-network Equivalent T-network




The y-parameters,
yn= 1.2 U, y|2=y21=—] 6, and Va2 =l.50
SLAy= (1.2%x1.5—-1)=0.8

) o X% LS PSR ;S | B o

Sl e s Rl TR R T T
0.5 Y

ZA=(Z”—ZIZ)=W=O.6?.SQ

0 ZB=(222 —Z|2)=%=0.259

A g




CHAPTERS8

LOW PASS FILTER INTRODUCTION

Basically, an electrical filter is a circuit that can be designed to modify,
reshape or reject all unwanted frequencies of an electrical signal and accept or pass only
those signals wanted by the circuit’s designer. In other words they “filter-out” unwanted
signals and an ideal filter will separate and pass sinusoidal input signals based upon
their frequency.

In low frequency applications (up to 100kHz), passive filters are generally
constructed using simple RC(Resistor-Capacitor) networks, while higher frequency
filters (above 100kHz) are usually made from RLC (Resistor-Inductor-Capacitor)
components.

Passive Filters are made up of passive components such as resistors,
capacitors and inductors and have no amplifying elements (transistors, op-amps, etc) so
have no signal gain, therefore their output level is always less than the input.

Filters are so named according to the frequency range of signals that they
allow to pass through them, while blocking or “attenuating” the rest. The most
commonly used filter designs are the:

e 1. The Low Pass Filter - the low pass filter only allows low frequency signals from

OHz to its cut-off frequency, fc point to pass while blocking those any higher.

o 2. The High Pass Filter - the high pass filter only allows high frequency signals
from its cut-off frequency, fc point and higher to infinity to pass through while

blocking those any lower.

o 3. The Band Pass Filter - the band pass filter allows signals falling within a certain
frequency band setup between two points to pass through while blocking both the

lower and higher frequencies either side of this frequency band.

e 4 Band Stop Filter - It is so called band-elimination, band-reject, or notch filters;
this kind of filter passes all frequencies above and below a particular range set by

the component values.

Simple First-order passive filters (1st order) can be made by connecting
together a single resistor and a single capacitor in series across an input signal, (Vin)
with the output of the filter, (Vout ) taken from the junction of these two components.
Depending on which way around we connect the resistor and the capacitor with regards
to the output signal determines the type of filter construction resulting in either a Low
Pass Filter or a High Pass Filter.

As the function of any filter is to allow signals of a given band of
frequencies to pass unaltered while attenuating or weakening all others those are not
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wanted, we can define the amplitude response characteristics of an ideal filter by using
an ideal frequency response curve of the four basic filter types as shown.

IDEAL FILTER RESPONSE CURVES

Ap Ap Ar AF
t Low Pass Filter 4 High Pass Filter Y BandPass Filter 1 Band Stop Fiktar
Fass Stop Stop Pass Stop | Pass | Stop Fass | Stop | Pass
0 "0 " - !
fo Is o Ja o I F A

A Low Pass Filter can be a combination of capacitance, inductance or
resistance intended to produce high attenuation above a specified frequency and little or
no attenuation below that frequency. The frequency at which the transition occurs is
called the “cutoff’ frequency. The simplest low pass filters consist of a resistor and
capacitor but more sophisticated low pass filters have a combination of series inductors
and parallel capacitors. In this tutorial we will look at the simplest type, a passive two
component RC low pass filter.

THE LOW PASS FILTER

A simple passive RC Low Pass Filter or LPF, can be easily made by
connecting together in series a single Resistor with a single Capacitor as shown below.
In this type of filter arrangement the input signal (Vin) is applied to the series
combination (both the Resistor and Capacitor together) but the output signal (Vout ) is
taken across the capacitor only. This type of filter is known generally as a “first-order
filter” or “one-pole filter”, why first-order or single-pole?, because it has only “one”
reactive component, the capacitor, in the circuit.

RC LOW PASS FILTER CIRCUIT

As mentioned Resistor, R I
previously in the Capacitive
Reactance tutorial, the reactance of a
capacitor varies inversely with
frequency, while the value of the | ¥ Capacitor, C Ve
resistor remains constant as the
frequency changes. At low
frequencies the capacitive reactance, @ o

(Xc) of the capacitor will be very -

large compared to the resistive value of the resistor, R and as a result the voltage across
the capacitor, Vc will also be large while the voltage drop across the resistor, Vr will be
much lower. At high frequencies the reverse is true with Vc being small and Vr being

large.

While the circuit above is that of an RC Low Pass Filter circuit, it can also
be classed as a frequency variable potential divider circuit similar to the one we looked
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at in the Resistors tutorial. In that tutorial we used the following equation to calculate
the output voltage for two single resistors connected in series.

=7 _ X7 e H.
Vo Y -
OUuL m p D
I i~
1l i
] N o) — T . . .
where, [Ny Koo = IS 7,the total resistance of the circuit

We also know that the capacitive reactance of a capacitor in an AC circuit
is given as:

<7
s e

Opposition to current flow in an AC circuit is called impedance,
symbol Z and for a series circuit consisting of a single resistor in series with a single
capacitor, the circuit impedance is calculated as:

","w"
[

R

s
;S =
=1

{ b

-
x

i oL

!

L) —

¢
@

Then by substituting our equation for impedance above into the resistive
potential divider equation gives us:

RC POTENTIAL DIVIDER EQUATION

So, by using the potential divider equation of two resistors in series and
substituting for impedance we can calculate the output voltage of an RC Filter for any
given frequency.
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LOW PASS FILTER EXAMPLE

A Low Pass Filter circuit consisting of a resistor of 4k7() in series with a
capacitor of 47nF is connected across a 10v sinusoidal supply. Calculate the output
voltage (Vout ) at a frequency of 100Hz and again at frequency of 10,000Hz or 10kHz.

Voltage Output at a Frequency of 100Hz.

i i
I Ve i J— i
Sl = =
il L
e
A7 = i L LA — 1~ — e
Vo Vo & — LA T = b
(g O il ﬂ - ; , _‘:7; J I P TR S e -'-_I
JRE+HXE Af U0 T 35805
Y L T
Voltage Output at a Frequency of 10,000Hz (10kHz).
1 1
~ L _ 1 — 21X AN
—"‘\;:": - =~ = 3 o, s - P =20 Uaa
- AT O eral Y IR L1 s R B
W e et ol W LWV ] £ W
7
T I j‘!‘f‘ 1y oy 71O
Ve — Yo I . ML O
LSLLE S § 413 f o~ 2 _— ! By oy el
Af VT A Af F RS T 55060
y ¥

FREQUENCY RESPONSE

We can see from the results above that as the frequency applied to the RC network
increases from 100Hz to 10 kHz, the voltage dropped across the capacitor and therefore
the output voltage (Vout) from the circuit decreases from 9.9v to 0.718v.

By plotting the networks output voltage against different values of input frequency,
the Frequency Response Curve or Bode Plot function of the low pass filter circuit can be

found, as shown below.
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Frequency Response of a 1st-order Low Pass Filter

Coner
| Vout Freguency
Zain — 20 log Vin fl:
I I,
JagsBanc ) | | StopBand
0dB
343 4+—-3d3 (457
Frequenc
R d y Slope =
= EELLUSE -20cB/Decade
= S
E ¥
Bandwidth
- P
Ptase fu L=) Fregquency iHz}
UF (Logarith mic Scaled
- 5*
Phass
Shift
-90° :

Frequency iHz)

The Bode Plot shows the Frequency Response of the filter to be nearly flat
for low frequencies and the entire input signal is passed directly to the output, resulting
in a gain of nearly 1, called unity, until it reaches its Cut-off Frequency point (fc). This is
because the reactance of the capacitor is high at low frequencies and blocks any current
flow through the capacitor.

After this cut-off frequency point the response of the circuit decreases to
zero at a slope of -20dB/ Decade or (-6dB/Octave) “roll-off”. Note that the angle of the
slope, this -20dB/ Decade roll-off will always be the same for any RC combination.

Any high frequency signals applied to the low pass filter circuit above this
cut-off frequency point will become greatly attenuated, that is they rapidly decrease.
This happens because at very high frequencies the reactance of the capacitor becomes
so low that it gives the effect of a short circuit condition on the output terminals
resulting in zero output.

Then by carefully selecting the correct resistor-capacitor combination, we
can create a RC circuit that allows a range of frequencies below a certain value to pass
through the circuit unaffected while any frequencies applied to the circuit above this
cut-off point to be attenuated, creating what is commonly called a Low Pass Filter.
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For this type of “Low Pass Filter” circuit, all the frequencies below this
cut-off, fc point that are unaltered with little or no attenuation and are said to be in the
filters Pass band zone. This pass band zone also represents the Bandwidth of the filter.
Any signal frequencies above this point cut-off point are generally said to be in the
filters Stop band zone and they will be greatly attenuated.

This “Cut-oft”, “Corner” or “Breakpoint” frequency is defined as being the
frequency point where the capacitive reactance and resistance are equal, R = Xc = 4k7Q.
When this occurs the output signal is attenuated to 70.7% of the input signal value or -
3dB (20 log (Vout/Vin)) of the input. Although R = Xc, the output is not half of the input
signal. This is because it is equal to the vector sum of the two and is therefore 0.707 of
the input.

As the filter contains a capacitor, the Phase Angle (@) of the output
signal LAGS behind that of the input and at the -3dB cut-off frequency (fc) and is -
450 out of phase. This is due to the time taken to charge the plates of the capacitor as the
input voltage changes, resulting in the output voltage (the voltage across the capacitor)
“lagging” behind that of the input signal. The higher the input frequency applied to the
filter the more the capacitor lags and the circuit becomes more and more “out of phase”.

The cut-off frequency point and phase shift angle can be found by using
the following equation:

CUT-OFF FREQUENCY AND PHASE SHIFT

-

H E ]
i i
1 !

r~
!

\|H
I
I
1

SN P N e A

P R S B R i B 7 LI L LI C AW

—1 —i1

HFhage sttt o = -arctan i S 7 AU
LR A | A i d b L% g

[]
A Bidisf e RAAIE L L -T-' Chi s LLAid § 4%

Then for our simple example of a “Low Pass Filter” circuit above, the cut-
off frequency (fc) is given as720Hz with an output voltage of 70.7% of the input voltage
value and a phase shift angle of -45°.

HIGH PASS FILTERS

A High Pass Filter or HPF, is the exact opposite to that of the previously
seen Low Pass filter circuit, as now the two components have been interchanged with
the output signal ( Vout ) being taken from across the resistor as shown.

Where as the low pass filter only allowed signals to pass below its cut-off
frequency point, fc, the passive high pass filter circuit as its name implies, only passes
signals above the selected cut-off point, fc eliminating any low frequency signals from
the waveform. Consider the circuit below.
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THE HIGH PASS FILTER CIRCUIT

/\ Capacltor C

—l-
v\ |

W

| Resistor, R $ Wom
° -~

o

In this circuit arrangement, the reactance of the capacitor is very high at low
frequencies so the capacitor acts like an open circuit and blocks any input signals
at Vin until the cut-off frequency point (fc) is reached. Above this cut-off frequency
point the reactance of the capacitor has reduced sufficiently as to now act more like a
short circuit allowing the entire input signal to pass directly to the output as shown
below in the High Pass Frequency Response Curve.

FREQUENCY RESPONSE OF A 1ST ORDER HIGH PASS FILTER.
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The Bode Plot or Frequency Response Curve above for a High Pass filter is
the exact opposite to that of a low pass filter. Here the signal is attenuated or damped at
low frequencies with the output increasing at +20dB/Decade (6dB/Octave) until the
frequency reaches the cut-off point ( fc ) where again R = Xc. It has a response curve
that extends down from infinity to the cut-off frequency, where the output voltage
amplitude is 1/v2 = 70.7% of the input signal value or -3dB (20 log (Vout/Vin)) of the
input value.

Also we can see that the phase angle (®) of the output signal LEADS that
of the input and is equal to+45° at frequency fc. The frequency response curve for a
high pass filter implies that the filter can pass all signals out to infinity. However in
practice, the high pass filter response does not extend to infinity but is limited by the
electrical characteristics of the components used.

The cut-off frequency point for a first order high pass filter can be found
using the same equation as that of the low pass filter, but the equation for the phase
shift is modified slightly to account for the positive phase angle as shown below.

CUT-OFF FREQUENCY AND PHASE SHIFT

]

( HFCICEFT —

Y/ = =
A Tour ~ X
A, = = = — = =
I f\l 1 §!_ : o F —
I “:J n + :Ail!. r
¥

atlow f: Xc —«, Vout=0
athigh f: Xc — 0, Vout=Vin

HIGH PASS FILTER EXAMPLE.

Calculate the cut-off or “breakpoint” frequency ( fc ) for a simple high
pass filter consisting of an82pF capacitor connected in series with a 240k} resistor.
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BAND PASS FILTERS

The cut-off frequency or fc point in a simple RC passive filter can be
accurately controlled using just a single resistor in series with a non-polarized
capacitor, and depending upon which way around they are connected either a low pass
or a high pass filter is obtained.

One simple use for these types of Passive Filters is in audio amplifier
applications or circuits such as in loudspeaker crossover filters or pre-amplifier tone
controls. Sometimes it is necessary to only pass a certain range of frequencies that do
not begin at OHz, (DC) or end at some high frequency point but are within a certain
frequency band, either narrow or wide.

By connecting or “cascading” together a single Low Pass Filter circuit with
a High Pass Filter circuit, we can produce another type of passive RC filter that passes a
selected range or “band” of frequencies that can be either narrow or wide while
attenuating all those outside of this range. This new type of passive filter arrangement
produces a frequency selective filter known commonly as a Band Pass Filter or BPF for
short.

BAND PASS FILTER CIRCUIT

Unlike a low pass filter that only pass signals of a low frequency range or
a high pass filter which pass signals of a higher frequency range, a Band Pass
Filters passes signals within a certain “band” or “spread” of frequencies without
distorting the input signal or introducing extra noise. This band of frequencies can be
any width and is commonly known as the filters Bandwidth.

Bandwidth is commonly defined as the frequency range that exists
between two specified frequency cut-off points ( fc ), that are 3dB below the maximum
centre or resonant peak while attenuating or weakening the others outside of these two
points.

Then for widely spread frequencies, we can simply define the term
“bandwidth”, BW as being the difference between the lower cut-off frequency (fcLower )
and the higher cut-off frequency ( fcuiguer ) points. In other words, BW = fy - fi.. Clearly
for a pass band filter to function correctly, the cut-off frequency of the low pass filter
must be higher than the cut-off frequency for the high pass filter.

The “ideal” Band Pass Filter can also be used to isolate or filter out certain
frequencies that lie within a particular band of frequencies, for example, noise
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cancellation. Band pass filters are known generally as second-order filters, (two-pole)
because they have “two” reactive component, the capacitors, within their circuit design.
One capacitor in the low pass circuit and another capacitor in the high pass circuit.

Frequency Response of a 2nd Order Band Pass Filter.

_ Vout
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\ | B \
| Stop Elandr'} { Pass Band ) : Stop EElﬂdr'}
V¥ Y| ¥ W
0dB
ACY, | N— T  — — — — — —= +— -3dB (45%)
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[
[
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0° I >~
[ Frequency
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The Bode Plot or frequency response curve above shows the
characteristics of the band pass filter. Here the signal is attenuated at low frequencies
with the output increasing at a slope of +20dB/Decade (6dB/Octave) until the
frequency reaches the “lower cut-off” point fi. At this frequency the output voltage is
again 1/V/2 = 70.7% of the input signal value or -3dB (20 log (Vout/Vin)) of the input.

The output continues at maximum gain until it reaches the “upper cut-off”
point fg where the output decreases at a rate of -20dB/Decade (6dB/Octave)
attenuating any high frequency signals. The point of maximum output gain is generally
the geometric mean of the two -3dB value between the lower and upper cut-off points
and is called the “Centre Frequency” or “Resonant Peak” value fr. This geometric mean
value is calculated as being fr 2 = fiupper) X f(LOWER)-

A band pass filter is regarded as a second-order (two-pole) type filter
because it has “two” reactive components within its circuit structure, then the phase
angle will be twice that of the previously seen first-order filters, i.e., 180°. The phase
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angle of the output signal LEADS that of the input by +90° up to the centre or resonant
frequency, fr point were it tecomes “zero” degrees (0°) or “in-phase” and then changes
to LAG the input by -90° as the output frequency increases.

The upper anc lower cut-off frequency points for a band pass filter can be
found using the same formula as that for both the low and high pass filters, For example.

Then clearly, the width of the pass band of the filter can be controlled by the
positioning of the two cut-off frequency points of the two filters.

Band Pass Filter Example

A second-order band pass filteris to be constructed using RC
components that will only cllow a range of frequencies to pass above 1kHz (1,000Hz)
and below 30kHz (30,000Hz). Assuming that both the resistors have values of 10kQ’s,
calculate the values of the tw capacitors required.

Si%gpr‘IUE}[_.. Low-pass filter |—| High-pass filter —Fgﬁg&{

blocks frequencies blocks frequencies
that are too high that are too low

The High Pass Filter Stage

The value of the capacitor C1 required to give a cut-off frequency fi. of
1kHz with a resistor value of10k(Q is calculated as:

Then, the values of R1 and C1 required for the high pass stage to give a
cut-off frequency of 1.0kHz ¢ re: R1 = 10kQ’s and C1 = 15nF.

The Low Pass Filter Stage

The value of the capacitor C2 required to give a cut-off frequency fu of 30kHz with a
resistor value of10k(} is calculated as:
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Then, the values of R2 and C2 required for the low pass stage to give a cut-
off frequency of 30kHz are, R = 10kQ’s and C = 510pF. However, the nearest preferred
value of the calculated capacitor value of 510pF is 560pF so this is used instead.

With the values of both the resistances R1 and R2 given as 10k(}, and the
two values of the capacitors C1 and C2 found for the high pass and low pass filters
as 15nF and 560pF respectively, then the circuit for our simple passive Band Pass
Filter is given as.

Completed Band Pass Filter Circuit

High P ass Filter Stage Low Pass Filter Stage

C1=15nF Fi=10K0O

WA | AAN, °

Vi R1=10KD $ C2=5660pF ___ Vo
o + 0

Band Pass Filter Resonant Frequency

We can also calculate the “Resonant” or “Centre Frequency” (fr) point of the band pass
filter were the output gain is at its maximum or peak value. This peak value is not the
arithmetic average of the upper and lower -3dB cut-off points as you might expect but is
in fact the “geometric” or mean value. This geometric mean value is calculated as
being fr 2 = fcupper) X fc(Lower) for example:

Centre Frequency Equation

ol -

T3 — ‘ -+ 44 "'
PP = Jr A T

P .

o Where, f; is the resonant or centre frequency
o fLis the lower -3dB cut-off frequency point

o fuisthe upper -3db cut-off frequency point
And in our simple example above, the calculated cut-off frequencies were
found to be f. = 1,060 Hz and fu = 28,420 Hz using the filter values.

Then by substituting these values into the above equation gives a central
resonant frequency of:

I
o
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Band-stop filters

It is so called band-elimination, band-reject, or notch filters; this kind of
filter passes all frequencies above and below a particular range set ty the component
values. Not surprisingly, it can be made out of a low-pass and a high-pass filter, just like
the band-pass design, except that this time we connect the two filter sections in parallel
with each other instead of in series. (Figure below)

passes |low frequencies

Low-pass filter | —

l ~ Signal
Input GL%BS’[

—_—
Signal _.,T
-

High-pass filter . T

passes high frequencies

System level block diagram of a band-stop filter.

Constructed using two capacitive filter sections, it looks something like

(Figure below).
R, R,
VWA VWA
c, T
S .
I ||
source R_3 % le d
-

a1 e PRV
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